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79.1 IC Logic Family Operation and Characteristics

Gregory L. Moss

Digital logic circuits can be classified as belonging to one of two categories, either combinational (also called
combinatorial) or sequential logic circuits. The output logic level of a combinatorial circuit depends only on
the current logic levels present at the circuit’s inputs. Sequential logic circuits, on the other hand, have a memory
characteristic so the sequential circuit’s output is dependent not only on the current input conditions but also
on the current output state of the circuit. The primary building block in combinational circuits is the logic
gate. The three simplest logic gate functions are the inverter (or NOT), AND, and OR. Other common basic
logic functions are derived from these three. Table 79.1 gives truth table definitions of the various types of
logic gates. The memory elements used to construct sequential logic circuits are called latches and flip-flops.

The integrated circuit switching logic used in modern digital systems will generally be from one of three
families: transistor-transistor logic (TTL), complementary metal-oxide semiconductor logic (CMOS), or emit-
ter-coupled logic (ECL). Each of the logic families has its advantages and disadvantages. The three major families
are also divided into various subfamilies derived from performance improvements in integrated circuit (IC)
design technology. Bipolar transistors provide the switching action in both TTL and ECL families, while
enhancement-mode MOS transistors are the basis for the CMOS family. Recent improvements in switching
circuit performance are also attained using BiCMOS technology, the merging of bipolar and CMOS technologies
on a single chip. A particular logic family is usually selected by digital designers based on such criteria as

Switching speed

Power dissipation

PC board area requirements (levels of integration)
Output drive capability (fan-out)

Noise immunity characteristics

Product breadth

Sourcing of components

NS »Ne
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TABLE 79.1 Defining Truth Tables for Logic Gates

1-Input Function 2-Input Functions
Input  Output  Inputs Output Functions
A NOT A B AND OR NAND NOR XOR XNOR
0 1 0 0 0 0 1 1 0 1
1 0 0 1 0 1 1 0 1 0
1 0 0 1 1 0 1 0
1 1 1 1 0 0 0 1
TABLE 79.2 Logic Families and Subfamilies
Family and Subfamily Description
TTL Transistor-transistor logic
74xx Standard TTL
74Lxx Low-power TTL
74Hxx High-speed TTL
745xx Schottky TTL
74LSxx Low-power Schottky TTL
74ASxx Advanced Schottky TTL
74ALSxx Advanced low-power Schottky TTL
74Fxx Fast TTL
CMOS Complementary metal-oxide semiconductor
4xxx Standard CMOS
74Cxx Standard CMOS using TTL numbering system
74HCxx High-speed CMOS
74HCTxx High-speed CMOS—TTL compatible
74FCTxx Fast CMOS—TTL compatible
74ACxx Advanced CMOS
74ACTxx Advanced CMOS—TTL compatible
74AHCxx Advanced high-speed CMOS
74AHCTxx Advanced high-speed CMOS-TTL compatible
ECL (or CML) Emitter-coupled (current-mode) logic
10xxx Standard ECL
10Hxxx High-speed ECL

IC Logic Families and Subfamilies

The integrated circuit logic families actually consist of several subfamilies of ICs that differ in various perfor-
mance characteristics. The TTL logic family has been the most widely used family type for applications that
employ small-scale integration (SSI) or medium-scale integration (MSI) integrated circuits. Lower power
consumption and higher levels of integration are the principal advantages of the CMOS family. The ECL family
is generally used in applications that require high-speed switching logic. Today, the most common device
numbering system used in the TTL and CMOS families has a prefix of 54 (generally used in military applications
and having an operating temperature range of —55 to 125°C) and 74 (generally used in industrial/commercial
applications and having an operating temperature range of 0 to 70°C). Table 79.2 identifies various logic families
and subfamilies.

TTL Logic Family

The TTL family has been the most widely used logic family for many years in applications that use SSI and
MSI. It is relatively fast and offers a great variety of standard chips.

The active switching element used in all TTL family circuits is the npn bipolar junction transistor (BJT).
The transistor is turned on when the base is approximately 0.7 V more positive than the emitter and there is
a sufficient amount of base current flowing. The turned on transistor (in non-Schottky subfamilies) is said to
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FIGURE 79.1 TTL inverter circuit block diagram and operation.

be in saturation and, ideally, acts like a closed switch between the collector and emitter terminals. The transistor
is turned off when the base is not biased with a high enough voltage (with respect to the emitter). Under this
condition, the transistor acts like an open switch between the collector and emitter terminals.

Figure 79.1 illustrates the transistor circuit blocks used in a standard TTL inverter. Four transistors are used
to achieve the inverter function. The input to the gate connects to the emitter of transistor Q1, the input
coupling transistor. A clamping diode on the input prevents negative input voltage spikes from damaging Q1.
The collector voltage (and current) of Q1 controls Q2, the phase splitter transistor. Q2, in turn, controls the
Q3 and Q4 transistors forming the output circuit, which is called a totem-pole arrangement. Q4 serves as a
pull-up transistor to pull the output high when it is turned on. Q3 does just the opposite to the output and
serves as a pull-down transistor. Q3 pulls the output low when it is turned on. Only one of the two transistors
in the totem pole may be turned on at a time, which is the function of the phase splitter transistor Q2.

When a high logic level is applied to the inverter’s input, Q1’s base-emitter junction will be reverse biased
and the base-collector junction will be forward biased. This circuit condition will allow Q1 collector current
to flow into the base of Q2, saturating Q2 and thereby providing base current into Q3, turning it on also. The
collector voltage of Q2 is too low to turn on Q4 so that it appears as an open in the top part of the totem pole.
A diode between the two totem-pole transistors provides an extra voltage drop in series with the base-emitter
junction of Q4 to ensure that Q4 will be turned off when Q2 is turned on. The saturated Q3 transistor brings
the output near ground potential, producing a low output result for a high input into the inverter.

When a low logic level is applied to the inverter’s input, Q1’s base-emitter junction will be forward biased
and the base-collector junction will be reverse biased. This circuit condition will turn on Q1 so that the collector
terminal is shorted to the emitter and, therefore, to ground (low level). This low voltage is also on the base of
Q2 and turns Q2 off. With Q2 off, there will be insufficient base current into Q3, turning it off also. Q2 leakage
current is shunted to ground with a resistor to prevent the partial turning on of Q3. The collector voltage of
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Q2 is pulled to a high potential with another resistor and, as a result, turns on Q4 so that it appears as a short
in the top part of the totem pole. The saturated Q4 transistor provides a low resistance path from V. to the
output, producing a high output result for a low input into the inverter.

A TTL NAND gate is very similar to the inverter circuit, with the exception that the input coupling transistor
Q1 is constructed with multiple emitter-base junctions and each input to the NAND is connected to a separate
emitter terminal. Any of the transistor’s multiple emitters can be used to turn on Q1. The TTL NAND gate
thus functions in the same manner as the inverter in that if any of the NAND gate inputs are low, the same
circuit action will take place as with a low input to the inverter. Therefore, any time a low input is applied to
the NAND gate it will produce a high ouput. Only if all of the NAND gate inputs are simultaneously high will
it then produce the same circuit action as the inverter with its single input high, and the resultant output will
be low. Input coupling transistors with up to eight emitter-base junctions, and therefore, eight input NAND
gates, are constructed.

Storage time (the time it takes for the transistor to come out of saturation) is a major factor of propagation
delay for saturated BJT transistors. A long storage time limits the switching speed of a standard TTL circuit.
The propagation delay can be decreased and, therefore, the switching speed can be increased, by placing a
Schottky diode between the base and collector of each transistor that might saturate. The resulting Schottky-
clamped transistors do not go into saturation (effectively eliminating storage time) since the diode shunts
current from the base into the collector before the transistor can achieve saturation. Today, digital circuit designs
implemented with TTL logic almost exclusively use one of the Schottky subfamilies to take advantage of the
significant improvement in switching speed.

CMOS Logic Family

The active switching element used in all CMOS family circuits is the metal-oxide semiconductor field-effect
transistor (MOSFET). CMOS stands for complementary MOS transistors and refers to the use of both types
of MOSFET transistors, n-channel and p-channel, in the design of this type of switching circuit. While the
physical construction and the internal physics of a MOSFET are quite different from that of the BJT, the circuit
switching action of the two transistor types is quite similar. The MOSFET switch is essentially turned off and
has a very high channel resistance by applying the same potential to the gate terminal as the source. An n-
channel MOSFET is turned on and has a very low channel resistance when a high voltage with respect to the
source is applied to the gate. A p-channel MOSFET operates in the same fashion but with opposite polarities;
the gate must be more negative than the source to turn on the transistor.

A block diagram and schematic for a CMOS inverter circuit is shown in Fig. 79.2. Note that it is a simpler
and much more compact circuit design than that for the TTL inverter. That fact is a major reason why MOSFET
integrated circuits have a much higher circuit density than BJT integrated circuits and is one advantage that
MOSEFET ICs have over BJT ICs. As a result, CMOS is used in all levels of integration, from SSI through VLSI
(very large scale integration).

When a high logic level is applied to the inverter’s input, the p-channel MOSFET Q1 will be turned off and
the n-channel MOSFET Q2 will be turned on. This will cause the output to be shorted to ground through the
low resistance path of Q2’s channel. The turned off Q1 has a very high channel resistance and acts nearly like
an open.

When a low logic level is applied to the inverter’s input, the p-channel MOSFET Q1 will be turned on and
the n-channel MOSFET Q2 will be turned off. This will cause the output to be shorted to V,, through the low
resistance path of Q1’s channel. The turned off Q2 has a very high channel resistance and acts nearly like an open.

CMOS NAND gates are constructed by paralleling p-channel MOSFETs, one for each input, and putting in
series an #n-channel MOSFET for each input, as shown in the block diagram and schematic of Fig. 79.3. The
NAND gate will produce a low output only when both Q3 and Q4 are turned on, creating a low resistance
path from the output to ground through the two series channels. This can be accomplished by having a high
on both input A and input B. This input condition will also turn off Q1 and Q2 . If either input A or input B
or both is low, the respective parallel MOSFET will be turned on, providing a low resistance path for the output
to Vpp. This will also turn off at least one of the series MOSFETS, resulting in a high resistance path for the
output to ground.

© 2000 by CRC PressLLC



VDD VDD
Y Y
ull- =
Vo | (o imantel) b Q1
Q1 M
input Vb1 output input output
Vpz
pull-down —
(n-channel) o @
Va2 Q2 H
input Q1 Voi Q2 Vi output
hi off open on low low
low on hi off open hi

FIGURE 79.2 CMOS inverter circuit block diagram and operation.
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FIGURE 79.3 CMOS two-input NAND circuit block diagram and operation.

ECL Logic Family

ECL is a higher-speed logic family. While it does not offer as large a variety of IC chips as are available in the
TTL family, it is quite popular for logic applications requiring high-speed switching.

The active switching element used in the ECL family circuits is also the npn BJT. Unlike the TTL family,
however, which switches the transistors into saturation when turning them on, ECL switching is designed to
prevent driving the transistors into saturation. Whenever bipolar transistors are driven into saturation, their
switching speed will be limited by the charge carrier storage delay, a transistor operational characteristic. Thus,
the switching speed of ECL circuits will be significantly higher than for TTL circuits. ECL operation is based
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FIGURE 79.4 Switching device logic levels.

TABLE 79.3 Logic Signal Voltage Parameters for Selected Logic
Subfamilies (in Volts)

Subfamily Vor(min Vor(max Viti(min) Vit (max)
74xx 2.4 0.4 2.0 0.8
74LSxx 2.7 0.5 2.0 0.8
74ASxx 2.5 0.5 2.0 0.8
74ALSxx 2.5 0.4 2.0 0.8
74Fxx 2.5 0.5 2.0 0.8
74HCxx 49 0.1 3.15 0.9
74HCTxx 4.9 0.1 2.0 0.8
74ACxx 3.8 0.4 3.15 1.35
74ACTxx 3.8 0.4 2.0 0.8
74AHCxx 4.5 0.1 3.85 1.65
74AHCTxx 3.65 0.1 2.0 0.8
10xxx -0.96 -1.65 -1.105 -1.475
10Hxxx -0.98 -1.63 -1.13 -1.48

on switching a fixed amount of bias current that is less than the saturation amount between two different
transistors. The basic circuit found in the ECL family is the differential amplifier. One side of the differential
amplifier is controlled by a bias circuit and the other is controlled by the logic inputs to the gate. This logic
family is also referred to as current-mode logic (CML) because of its current switching operation.

Logic Family Circuit Parameters

Digital circuits and systems operate with only two states, logic 1 and 0, usually represented by two different
voltage levels, a high and a low. The two logic levels actually consist of a range of values with the numerical
quantities dependent upon the specific family that is used. Minimum high logic levels and maximum low logic
levels are established by specifications for each family. Minimum device output levels for a logic high are called

Vor(miny ad minimum input levels are called V(). The abbreviations for maximum output and input low

min
logic levels are Vi .y and Vi .., respectively. Figure 79.4 shows the relationships between these parameters.
Logic voltage level parameters are illustrated for selected prominent logic subfamilies in Table 79.3. As seen in
this illustration, there are many operational incompatibilities between major logic family types.

Noise margin is a quantitative measure of a device’s noise immunity. High-level noise margin (Vy,;) and

low-level noise margin (Vy,) are defined in Egs. (79.1) and (79.2).
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FIGURE 79.5 Current loading of driving gates.

TABLE 79.4 Worst Case Current Parameters for Selected Logic Subfamilies

Subfamily Totman Ior(man) Tti(max) I (max
74xx —400 LA 16 mA 40 HA -1.6 HA
74LSxx —400 LA 8 mA 20 pA —400 LA
74ASxx -2 mA 20 mA 200 HA -2 mA
74ALSxx —400 LA 8 mA 20 HA —100 LA
74Fxx -1 mA 20 mA 20 HA —0.6 mA
74HCxx —4 mA 4 mA 1 A -1 uA
74HCTxx —4 mA 4 mA 1 pA -1 HA
74ACxx -24 mA 24 mA 1 A -1 uA
74ACTxx —24 mA 24 mA 1 uA -1 uA
74AHCxx -8 mA 8 mA 1 pA -1 HA
74AHCTxx -8 mA 8 mA 1 A -1 uA
10xxx 50 mA -50 mA —265 pA 500 nA
10Hxxx 50 mA -50 mA —265 A 500 nA

VNH = VOH(min) - Vle(min)

VNL = ‘/IL(max) - VOL(max)

(79.1)

(79.2)

Using the logic voltage values given in Table 79.3 for the selected subfamilies reveals that highest noise

immunity is obtained with logic devices in the CMOS family, while lowest noise immunity is endemic to the

ECL family.

Switching circuit outputs are loaded by the inputs of the devices that they are driving, as illustrated in
Fig. 79.5. Worst case input loading current levels and output driving current capabilities are listed in Table 79.4

for various logic subfamilies. The fan-out of a driving device is the ratio between its output current capabilities
at each logic level and the corresponding gate input current loading value. Switching circuits based on bipolar
transistors have fan-out limited primarily by the current-sinking and current-sourcing capabilities of the driving

device.
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TABLE 79.5 Speed-Power Comparison for Selected Logic Subfamilies

Propagation Static Power

Delay Time, Dissipation, Speed-Power
Subfamily ns (ave.) mW (per gate) Product, pJ
74xx 10 10 100
74LSxx 9.5 2 19
74ASxx 1.5 2 13
74ALSxx 4 1.2 5
74Fxx 3 6 18
74HCxx 8 0.003 24 x 107
74HCTxx 14 0.003 42 x 1073
74ACxx 5 0.010 50 x 107
74ACTxx 5 0.010 50 x 107
74AHCxx 5.5 0.003 16 X 1073
74AHCTxx 5 0.003 14 %107
10xxx 2 25 50
10Hxxx 1 25 25

CMOS switching circuits are limited by the charging and discharging times associated with the output
resistance of the driving gate and the input capacitance of the load gates. Thus, CMOS fan-out depends on the
frequency of switching. With fewer (capacitive) loading inputs to drive, the maximum switching frequency of
CMOS devices will increase.

The switching speed of logic devices is dependent on the device’s propagation delay time. The propagation
delay of a logic device limits the frequency at which it can be operated. There are two propagation delay times
specified for logic gates: f,;, delay time for the output to change from high to low, and #,;, delay time for the
output to change from low to high. Average typical propagation delay times for a single gate are listed for
several logic subfamilies in Table 79.5. The ECL family has the fastest switching speed.

The amount of power required by an IC is normally specified in terms of the amount of current I (TTL
family), I,, (CMOS family), or I; (ECL family) drawn from the power supply. For complex IC devices, the
required supply current is given under specified test conditions. For TTL chips containing simple gates, the
average power dissipation Py ,,., is normally calculated from two measurements, I.;; (when all gate outputs
are high) and I, (when all gate outputs are low). Table 79.5 compares the static power dissipation of several
logic subfamilies. The ECL family has the highest power dissipation, while the lowest is attained with the CMOS
family. It should be noted that power dissipation for the CMOS family is directly proportional to the gate input
signal frequency. For example, one would typically find that the power dissipation for a CMOS logic circuit
would increase by a factor of 100 if the input signal frequency is increased from 1 kHz to 100 kHz.

The speed-power product is a relative figure of merit that is calculated by the formula given in Eq. (79.3).
This performance measurement is normally expressed in picojoules (pJ).

Speed-power product = (fpy; + tpr)/2 X Pppe (79.3)

A low value of speed-power product is desirable to implement high-speed (and, therefore, low propagation
delay time) switching devices that consume low amounts of power. Because of the nature of transistor switching
circuits, it is difficult to attain high-speed switching with low power dissipation. The continued development
of new IC logic families and subfamilies is largely due to the trade-offs between these two device switching
parameters. The speed-power product for various subfamilies is also compared in Table 79.5.

Interfacing Between Logic Families

The interconnection of logic chips requires that input and output specifications be satisfied. Figure 79.6 illus-
trates voltage and current requirements. The driving chip’s Vi, must be greater than the driven circuit’s

Viti(miny and the driver’s Vi, ...,y must be less than Vy ..., for the loading circuit. Voltage level shifters must be
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used to interface the circuits together if these voltage requirements are not met. Of course, a driving circuit’s
output must not exceed the maximum and minimum allowable input voltages for the driven circuit. Also, the
current sinking and sourcing ability of the driver circuit’s output must be greater than the total current
requirements for the loading circuit. Buffer gates or stages must be used if current requirements are not satisfied.
All chips within a single logic family are designed to be compatible with other chips in the same family. Mixing
chips from multiple subfamilies together within a single digital circuit can have adverse effects on the overall
circuit’s switching speed and noise immunity.

Defining Terms

Fan-out: The specification used to identify the limit to the number of loading inputs that can be reliably
driven by a driving device’s output.

Logic level: The high or low value of a voltage variable that is assigned to be a 1 or a 0 state.

Noise immunity: A logic device’s ability to tolerate input voltage fluctuation caused by noise without changing
its output state.

Propagation delay time: The time delay from when the input logic level to a device is changed until the
resultant output change is produced by that device.

Speed-power product: An overall performance measurement that is used to compare the various logic families
and subfamilies.

Truth table: A listing of the relationship of a circuit’s output that is produced for various combinations of
logic levels at the inputs.
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79.2 Logic Gates (IC)!

Peter Graham

This section introduces and analyzes the electronic circuit realizations of the basic gates of the three technologies:
transistor-transistor logic (TTL), emitter-coupled logic (ECL), and complementary metal-oxide semiconductor
(CMOS) logic. These circuits are commercially available on small-scale integration chips and are also the
building blocks for more elaborate logic systems. The three technologies are compared with regard to speed,
power consumption, and noise immunity, and parameters are defined which facilitate these comparisons. Also
included are recommendations which are useful in choosing and using these technologies.

Gate Specification Parameters

Theoretically almost any logic device or system could be constructed by wiring together the appropriate
configuration of the basic gates of the selected technology. In practice, however, the gates are interconnected
during the fabrication process to produce a desired system on a single chip. The circuit complexity of a given
chip is described by one of the following four rather broad classifications:

+ Small-Scale Integration (SSI). The inputs and outputs of every gate are available for external connection
at the chip pins (with the exception that exclusive OR and AND-OR gates are considered SSI).

+ Medium-Scale Integration (MSI). Several gates are interconnected to perform somewhat more elaborate
logic functions such as flip-flops, counters, multiplexers, etc.

Based on P. Graham, “Gates,” in Handbook of Modern Electronics and Electrical Engineering, C. Belove, Ed., New York:
Wiley-Interscience, 1986, pp. 864-876. With permission.
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+ Large-Scale Integration (LSI). Several of the more elaborate circuits associated with MSI are intercon-
nected within the integrated circuit to form a logic system on a single chip. Chips such as calculators,
digital clocks, and small microprocessors are examples of LSI.

* Very-Large-Scale Integration (VLSI). This designation is usually reserved for chips having a very high
density, 1000 or more gates per chip. These include the large single-chip memories, gate arrays, and
microcomputers.

Specifications of logic speed require definitions of switching times. These definitions can be found in the
introductory pages of most data manuals. Four of them pertain directly to gate circuits. These are (see also
Fig. 79.7):

+ LOW-to-HIGH Propagation Delay Time (t,;;). The time between specified reference points on the
input and output voltage waveforms when the output is changing from low to high.

+ HIGH-to-LOW Propagation Delay Tune (t;;). The time between specified reference points on the
input and output voltage waveforms when the output is changing from high to low.

+ Propagation Delay Time (t,,). The average of the two propagation delay times: ty, = (tpp + topr) /2.

+ LOW-to-HIGH Transition Time (). The rise time between specified reference points on the LOW-to-
HIGH shift of the output waveform.

+ HIGH-to-LOW Transition Time (). The fall time between specified reference points on the HIGH-to-
LOW shift of the output waveform. The reference points usually are 10 and 90% of the voltage level difference
in each case.

Power consumption, driving capability, and effective loading of gates are defined in terms of currents.

+ Supply Current, Outputs High (). The current delivered to the chip by the power supply when all
outputs are open and at the logical 1 level. The xx subscript depends on the technology.

+ Supply Current, Outputs Low (I,;). The current delivered to the chip by the supply when all outputs
are open and at the logical 0 level.

* Supply Current, Worst Case (I,). When the output level is unspecified, the input conditions are assumed
to correspond to maximum supply current.
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Input HIGH Current (I;;). The current flowing into an input when the specified HIGH voltage is applied.

Input LOW Current (I;). The current flowing into an input when the specified LOW voltage is applied.

Output HIGH Current (I,y). The current flowing into the output when it is in the HIGH state. Iy,
is the largest I,,; for which Vg, 2 Vg0, 1s guaranteed.

Output LOW Current (I,;). The current flowing into the output when it is in the LOW state. I .. is
the largest I,; for which V> V.. is guaranteed.

The most important voltage definitions are concerned with establishing ranges on the logical 1 (HIGH) and
logical 0 (LOW) voltage levels.

+ Minimum High-Level Input Voltage ( Viy,...). The least positive value of input voltage guaranteed to
result in the output voltage level specified for a logical 1 input.

+ Maximum Low-Level Input Voltage (V};,...)- The most positive value of input voltage guaranteed to
result in the output voltage level specified for a logical 0 input.

+ Minimum High-Level Output Voltage ( Vjyi,)- The guaranteed least positive output voltage when the
input is properly driven to produce a logical 1 at the output.

+ Maximum Low-Level Output Voltage (V,;,...)- The guaranteed most positive output voltage when the
input is properly driven to produce a logical 0 at the output.

+ Noise Margins. NM; = Viimin — Vigmin 1S how much larger the guaranteed least positive output logical
1 level is than the least positive input level that will be interpreted as a logical 1. It represents how large
a negative-going glitch on an input 1 can be before it affects the output of the driven device. Similarly,
NM; = Viima — Voume 1 the amplitude of the largest positive- going glitch on an input 0 that will not
affect the output of the driven device.

Finally, three important definitions are associated with specifying the load that can be driven by a gate. Since
in most cases the load on a gate output will be the sum of inputs of other gates, the first definition characterizes
the relative current requirements of gate inputs.

+ Load Factor (LF). Each logic family has a reference gate, each of whose inputs is defined to be a unit
load in both the HIGH and the LOW conditions. The respective ratios of the input currents I;; and I;
of a given input to the corresponding I;;; and I; of the reference gate define the HIGH and LOW load
factors of that input.

+ Drive Factor (DF). A device output has drive factors for both the HIGH and the LOW output conditions.
These factors are defined as the respective ratios of Iy, and I ... of the gate to Ioy,., and I, of
the reference gate.

+ Fan-Out. For a given gate the fan-out is defined as the maximum number of inputs of the same type
of gate that can be properly driven by that gate output. When gates of different load and drive factors
are interconnected, fan-out must be adjusted accordingly.

Bipolar Transistor Gates

A logic circuit using bipolar junction transistors (BJTs) can be classified either as saturated or as nonsaturated
logic. A saturated logic circuit contains at least one BJT that is saturated in one of the stable modes of the
circuit. In nonsaturated logic circuits none of the transistors is allowed to saturate. Since bringing a BJT out
of saturation requires a few additional nanoseconds (called the storage time), nonsaturated logic is faster. The
fastest circuits available at this time are emitter-coupled logic (ECL), with transistor-transistor logic (TTL)
having Schottky diodes connected to prevent the transistors from saturating (Schottky TTL) being a fairly close
second. Both of these families are nonsaturated logic. All TTL families other than Schottky are saturated logic.

Transistor-Transistor Logic

TTL evolved from resistor-transistor logic (RTL) through the intermediate step of diode-transistor logic (DTL).
All three families are catalogued in data books published in 1968, but of the three only TTL is still available.
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FIGURE 79.8 Two-input transistor-transistor logic (TTL) NAND gate type 7400: (a) circuit, (b) symbol, (c) voltage transfer
characteristic (V; to both inputs), (d) truth table.

The basic circuit of the standard TTL family is typified by the two-input NAND gate shown in Fig. 79.8(a).
To estimate the operating levels of voltage and current in this circuit, assume that any transistor in saturation
has V; = 0.2 and Vy; = 0.75 V. Let drops across conducting diodes also be 0.75 V and transistor current gains
(when nonsaturated) be about 50. As a starting point, let the voltage levels at both inputs A and B be high
enough that T, operates in the reversed mode. In this case the emitter currents of T, are negligible, and the
current into the base of T, goes out the collector to become the base current of T,. This current is readily
calculated by observing that the base of T) is at 3 X 0.75 = 2.25 V so there is a 2.75-V drop across the 4-kQ
resistor. Thus I = I, = 0.7 mA, and it follows that T, is saturated. With T, saturated, the base of T; is at V
+ Viea= 0.95 V. If T, is also saturated, the emitter of T; will be at V3 + Vi, = 0.95V, and T; will be cut off.
The voltage across the 1.6-kQ resistor is 5 — 0.95 = 4.05 V, so the collector current of T, is about 2.5 mA. This
means the emitter current of 7T, is 3.2 mA. Of this, 0.75 mA goes through the 1-kQ resistor, leaving 2.45 mA
as the base current of T,. Since the current gain of T, is about 50, it will be well into saturation for any collector
current less than 100 mA, and the output at Cis a logic 0. The corresponding minimum voltage levels required
at the inputs are estimated from Vg, + Vi, or about 1.7 V.
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FIGURE 79.9 Modified transistor-transistor logic (TTL) two-input NAND states: (a) type 74Hxx, (b) type 74L00.

Now let either or both of the inputs be dropped to 0.2 V. T is then biased to saturation in the normal mode,
so the collector current of T, extracts the charge from the base region of T,. With T, cut off, the base of T, is
at 0 V and T, is cut off. T, will be biased by the current through the 1.6-k€Q resistor (R;) to a degree regulated
by the current demand at the output C. The drop across R, is quite small for light loads, so the output level at
C will be V¢ — Vi — Vips, which will be about 3.5V corresponding to the logical 1.

The operation is summarized in the truth table in Fig. 79.8(d), identifying the circuit as a two-input NAND
gate. The derivation of the input-output voltage transfer characteristic [Fig. 79.8(c)], where V; is applied to
inputs A and B simultaneously, can be found in most digital circuit textbooks. The sloping portion of the
characteristic between V; = 0.55 and 1.2 V corresponds to T, passing through the active region in going from
cutoff to saturation.

Diodes D, and D, are present to damp out “ringing” that can occur, for example, when fast voltage level
shifts are propagated down an appreciable length (20 cm or more) of microstripline formed by printed circuit
board interconnections. Negative overshoots are clamped to the 0.7 V across the diode.

The series combination of the 130-Q resistor, T;, D,, and T, in the circuit of Fig. 79.8(a), forming what is
called the totem-pole output circuit, provides a low impedance drive in both the source (output C = 1) and
sink (output C = 0) modes and contributes significantly to the relatively high speed of TTL. The available
source and sink currents, which are well above the normal requirements for steady state, come into play during
the charging and discharging of capacitive loads. Ideally T; should have a very large current gain and the 130-
Q resistor should be reduced to 0. The latter, however, would cause a short-circuit load current which would
overheat Ty, since T; would be unable to saturate. All TTL families other than the standard shown in Fig. 79.8(a)
use some form of Darlington connection for Tj, providing increased current gain and eliminating the need for
diode D;,. The drop across D; is replaced by the base emitter voltage of the added transistor Ts. This connection
appears in Fig. 79.9(a), an example of the 74Hxx series of TTL gates that increases speed at the expense of
increased power consumption, and in Fig. 79.9(b), a gate from the 74Lxx series that sacrifices speed to lower
power dissipation.

A number of TTL logic function implementations are available with open collector outputs. For example,
the 7403 two-input NAND gate shown in Fig. 79.10 is the open collector version of Fig.79.8(a). The open
collector output has some useful applications. The current in an external load connected between the open
collector and V. can be switched on and off in response to the input combinations. This load, for example,
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FIGURE 79.10  Open collector two-input NAND gate.

might be a relay, an indicator light, or an LED display. Also, two or more open collector gates can share a
common load, resulting in the anding together of the individual gate functions. This is called a “wired-AND
connection.” In any application, there must be some form of load or the device will not function. There is a
lower limit to the resistance of this load which is determined by the current rating of the open collector transistor.
For wired-AND applications the resistance range depends on how many outputs are being wired and on the
load being driven by the wired outputs. Formulas are given in the data books. Since the open collector
configuration does not have the speed enhancement associated with an active pull-up, the low to high propa-
gation delay (#,;;;) is about double that of the totem-pole output. It should be observed that totem-pole outputs
should not be wired, since excessive currents in the active pull-up circuit could result.

Nonsaturated TTL. Two TTL families, the Schottky (74Sxx) and the low-power Schottky (74LSxx), can be
classified as nonsaturating logic. The transistors in these circuits are kept out of saturation by the connection
of Schottky diodes, with the anode to the base and the cathode to the collector.

Schottky diodes are formed from junctions of metal and an n-type semiconductor, the metal fulfilling the
role of the p-region. Since there are thus no minority carriers in the region of the forward-biased junction, the
storage time required to bring a pn junction out of saturation is eliminated. The forward-biased drop across a
Schottky diode is around 0.3 V. This clamps the collector at 0.3 V less than the base, thus maintaining V
above the 0.3-V saturation threshold. Circuits for the two-input NAND gates 74LS00 and 74S00 are given in
Fig.79.11(a) and (b). The special transistor symbol is a short-form notation indicating the presence of the
Schottky diode, as illustrated in Fig. 79.11(c).

Note that both of these circuits have an active pull-down transistor Ty replacing the pull-down resistance
connected to the emitter of T, in Fig. 79.9. The addition of T decreases the turn-on and turn-off times of T,.
In addition, the transfer characteristic for these devices is improved by the squaring off of the sloping region
between V; = 0.55 and 1.2 V [see Fig. 79.8(c)]. This happens because T, cannot become active until Ty turns
on, which requires at least 1.2 V at the input.

The diode AND circuit of the 74LS00 in place of the multi-emitter transistor will permit maximum input
levels substantially higher than the 5.5-V limit set for all other TTL families. Input leakage currents for 74LSxx
are specified at V; = 10V, and input voltage levels up to 15V are allowed. The 74LSxx has the additional feature
of the Schottky diode D, in series with the 100-€ output resistor. This allows the output to be pulled up to 10
V without causing a reverse breakdown of Ti. The relative characteristics of the several versions of the TTL
two-input NAND gate are compared in Table 79.6. The 74F00 represents one of the new technologies that have
introduced improved Schottky TTL in recent years.

© 2000 by CRC PressLLC



VCC

T 110Q

2.6kQ 3.6 kQ

(a)

u T4
370 @ oo N

1T =

(b) (©)

FIGURE 79.11 Transistor-transistor logic (TTL) nonsaturated logic. (a) Type 74LS00 two-input NAND gate, (b) type
74500 two-input NAND gate, (c) significance of the Schottky transistor symbol.

TTL Design Considerations. Before undertaking construction of a logic system, the wise designer consults
the information and recommendations provided in the data books of most manufacturers. Some of the more
significant tips are provided here for easy reference.

1. Power supply, decoupling, and grounding. The power supply voltage should be 5 V with less than 5%
ripple factor and better than 5% regulation. When packages on the same printed circuit board are
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TABLE 79.6 Comparison of TTL Two-Input NANDGates

Propagation Noise
Supply Current Delay Time Margins Load Drive
TTL Iecy® Iecr toin [ NMy NM, Factor, Factor, Fan-
Type (mA) (mA) (ns) (ns) (V) (V) H/L H/L out
74F00 2.8 10.2 2.9 2.6 0.7 0.3 0.5/0.375 25/12.5 33
74500 10 20 3 3 0.7 0.3 1.25/1.25 25/12.5 10
74H00 10 26 5.9 6.2 0.4 0.4 1.25/1.25 12.5/12.5 10
74LS00 0.8 24 9 10 0.7 0.3 0.5/0.25 10/5 20
7400 4 12 11 7 0.4 0.4 1/1 20/10 10
74L00 0.44 1.16 31 31 0.4 0.5 0.24/0.1125 5/2.25 20

See text for explanation of abbreviations.

supplied by a bus there should be a 0.05-UF decoupling capacitor between the bus and the ground for
every five to ten packages. If a ground bus is used, it should be as wide as possible, and should surround
all the packages on the board. Whenever possible, use a ground plane. If a long ground bus is used, both
ends must be tied to the common system ground point.

2. Unused gates and inputs. If a gate on a package is not used, its inputs should be tied either high or low,
whichever results in the least supply current. For example, the 7400 draws three times the current with
the output low as with the output high, so the inputs of an unused 7400 gate should be grounded. An
unused input of a gate, however, must be connected so as not to affect the function of the active inputs.
For a 7400 NAND gate, such an input must either be tied high or paralleled with a used input. It must
be recognized that paralleled inputs count as two when determining the fan-out. Inputs that are tied
high can be connected either to V. through a 1-kQ or more resistance (for protection from supply
voltage surges) or to the output of an unused gate whose input will establish a permanent output high.
Several inputs can share a common protective resistance. Unused inputs of low-power Schottky TTL
can be tied directly to V., since 74LSxx inputs tolerate up to 15 V without breakdown. If inputs of low-
power Schottky are connected in parallel and driven as a single input, the switching speed is decreased,
in contrast to the situation with other TTL families.

3. Interconnection. Use of line lengths of up to 10 in. (5 in. for 74S) requires no particular precautions,
except that in some critical situations lines cannot run side by side for an appreciable distance without
causing cross talk due to capacitive coupling between them. For transmission line connections, a gate
should drive only one line, and a line should be terminated in only one gate input. If overshoots are a
problem, a 25- to 50-Q resistor should be used in series with the driving gate input and the receiving
gate input should be pulled up to 5V through a 1-kQ resistor. Driving and receiving gates should have
their own decoupling capacitors between the V- and ground pins. Parallel lines should have a grounded
line separating them to avoid cross talk.

4. Mixing TTL subfamilies. Even synchronous sequential systems often have asynchronous features such
as reset, preset, load, and so on. Mixing high-speed 74S TTL with lower speed TTL (74LS for example)
in some applications can cause timing problems resulting in anomalous behavior. Such mixing is to be
avoided, with rare exceptions which must be carefully analyzed.

Emitter-Coupled Logic

ECL is a nonsaturated logic family where saturation is avoided by operating the transistors in the common
collector configuration. This feature, in combination with a smaller difference between the HIGH and LOW
voltage levels (less than 1 V) than other logic families, makes ECL the fastest logic available at this time. The
circuit diagram of a widely used version of the basic two-input ECL gate is given in Fig. 79.12. The power
supply terminals V., Ve Vi and Vi are available for flexibility in biasing. In normal operation, V., and
Ve, are connected to a common ground, Vi is biased to —5.2 V, and Vi is biased to —2 V. With these values
the nominal voltage for the logical 0 and 1 are, respectively, —1.75 and —0.9 V. Operation with the V. terminals
grounded maximizes the immunity from noise interference.
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FIGURE 79.12 Emitter-coupled logic basic gate (ECL 10102): (a) circuit, (b) symbol.

A brief description of the operation of the circuit will verify that none of the transistors saturates. For the
following discussion, V., and V¢, are grounded, Vi is =5.2 V, and V.. is =2 V. Diode drops and base-emitter
voltages of active transistors are 0.8 V.

First, observe that the resistor-diode (D, and D,) voltage divider establishes a reference voltage of —0.55 V
at the base of T}, which translates to —1.35 V at the base of T,. When either or both of the inputs A and B are
at the logical 1 level of —0.9 V, the emitters of T,,, T}, and T, will be 0.8 V lower, at —1.7 V. This establishes
the base-emitter voltage of T, at —1.35 — (-1.7 ) = 0.35V, so T, is cut off. With T, off, T, is biased into the
active region, and its emitter will be at about —0.9 V, corresponding to a logical 1 at the (A + B) output. Most
of the current through the 365-Q emitter resistor, which is [-1.7 — (=5.2)]/0.365 = 9.6 mA, flows through the
100-Q2 collector resistor, dropping the base voltage of T; to —0.96 V. Thus the voltage level at the output terminal
designated (A + B) is —1.76 V, corresponding to a logical 0.

When both A and B inputs are at the LOW level of —=1.75V, T, will be active, with its emitter voltage at —1.35
— 0.8 =-2.15V. The current through the 365-€ resistor becomes [-2.15 — (=5.2)]/0.365 = 8.2 mA. This current
flows through the 112-Q resistor pulling the base of T, down to —0.94 V, so that the (A + B) output will be at
the LOW level of —1.75 V. With T;, and T}; cut off, the base of T; is close to 0.0 V, and the (A + B) output will
therefore be at the nominal HIGH level of —-0.9 V.

Observe that the output transistors T, and T; are always active and function as emitter followers, providing
the low-output impedances required for driving capacitive loads. As T, and/or T, turn on, and T, turns off
as a consequence, the transition is accomplished with very little current change in the 365-Q emitter resistor.
It follows that the supply current from Vi does not undergo the sudden increases and decreases prevalent in
TTL, thus eliminating the need for decoupling capacitors. This is a major reason why ECL can be operated
successfully with the low noise margins which are inherent in logic having a relatively small voltage difference
between the HIGH and LOW voltage levels (see Table 79.7). The small level shifts between LOW and HIGH
also permit low propagation times without excessively fast rise and fall times. This reduces the effects of residual
capacitive coupling between gates, thereby lessening the required noise margin. For this reason the faster ECL
(100xxx) should not be used where the speed of the 10xxx series is sufficient. A comparison of three ECL series
is given in Table 79.7. The propagation times f,,; and f,;, and transition times #,; and tyy are defined in
Fig. 79.7. Transitions are between the 20 and 80% levels.
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TABLE 79.7 Comparison of ECL Quad Two-Input NOR Gates (Vi = Vi =52V, Vi, =0V)

Power Power
Supply Supply Propagation Transition Noise
Terminal  Current Delay Time Time Margins
ECL Vig Iy Loy’ Lpmr tr trm’ NMy NM, Test
Type (V) (mA) (ns) (ns) (ns) (ns) V) V) Load
ECL II
1012 -5.2 18¢ 5 4.5 4 6 0.175 0.175  Fan-out of 3
95102 -5.2 11 2 2 2 2 0.14 0.145 50 Q
10102 -5.2 20 2 2 2.2 2.2 0.135 0.175 50 Q
ECLIII
1662 -5.2 56°¢ 1 1.1 1.4 1.2 0.125 0.125 50 Q
1001024 —4.5 55 0.75 0.75 0.7 0.7 0.14 0.145 50 Q
11001¢ -5.2 24 0.7 0.7 0.7 0.7 0.145 0.175 50 Q
2See text for explanation of abbreviations. 4Quint 2-input NOR/OR gate.
b20 to 80% levels. ¢Dual 5/4-input NOR/OR gate.

‘Maximum value (all other typical).

The 50-Q pull-down resistors shown in Fig. 79.12 are connected externally. The outputs of several gates can
therefore share a common pull-down resistor to form a wired-OR connection. The open emitter outputs also
provide flexibility for driving transmission lines, the use of which in most cases is mandatory for interconnecting
this high-speed logic. A twisted pair interconnection can be driven using the complementary outputs (A + B)
and (A + B) as a differential output. Such a line should be terminated in an ECL line receiver (10114).

Since ECL is used in high-speed applications, special techniques must be applied in the layout and intercon-
nection of chips on circuit boards. Users should consult design handbooks published by the suppliers before
undertaking the construction of an ECL logic system.

While ECL is not compatible with any other logic family, interfacing buffers, called translators, are available.
In particular, the 10124 converts TTL output levels to ECL complementary levels, and the 10125 converts either
single-ended or differential ECL outputs to TTL levels. Among other applications of these translators, they
allow the use of ECL for the highest speed requirements of a system while the rest of the system uses the more
rugged TTL. Another translator is the 10177, which converts the ECL output levels to n-channel metal-oxide
semiconductor (NMOS) levels. This is designed for interfacing ECL with n-channel memory systems.

Complementary Metal-Oxide Semiconductor (CMOS) Logic

Metal-oxide semiconductor (MOS) technology is prevalent in LSI systems due to the high circuit densities
possible with these devices. p-Channel MOS was used in the first LSI systems, and it still is the cheapest to
produce because of the higher yields achieved due to the longer experience with PMOS technology. PMOS,
however, is largely being replaced by NMOS (n-channel MOS), which has the advantages of being faster (since
electrons have greater mobility than holes) and having TTL compatibility. In addition, NMOS has a higher
function/chip area density than PMOS, the highest density in fact of any of the current technologies. Use of
NMOS and PMOS, however, is limited to LSI and VLSI fabrications. The only MOS logic available as SSI and
MSI is CMOS (complementary MOS).

CMOS is faster than NMOS and PMOS, and it uses less power per function than any other logic. While it
is suitable for LSI, it is more expensive and requires somewhat more chip area than NMOS or PMOS. In many
respects it is unsurpassed for SSI and MSI applications. Standard CMOS (the 4000 series) is as fast as low-
power TTL (74Lxx) and has the largest noise margin of any logic type.

A unique advantage of CMOS is that for all input combinations the steady-state current from Vj,;, to Vi is
almost zero because at least one of the series FETs is open. Since CMOS circuits of any complexity are
interconnections of the basic gates, the quiescent currents for these circuits are extremely small, an obvious
advantage which becomes a necessity for the practicality of digital watches, for example, and one which alleviates
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FIGURE 79.13 (a) Complementary metal-oxide semiconductor (CMOS) NAND gate, (b) NOR gate, and (C) inverter
transfer characteristic.

heat dissipation problems in high-density chips. Also a noteworthy feature of CMOS digital circuits is the
absence of components other than FETs. This attribute, which is shared by PMOS and NMOS, accounts for
the much higher function/chip area density than is possible with TTL or ECL. During the time the output of
a CMOS gate is switching there will be current flow from Vj,;, to Vi, partly due to the charging of junction
capacitances and partly because the path between V},;, and Vg closes momentarily as the FETS turn on and off.
This causes the dc supply current to increase in proportion to the switching frequency in a CMOS circuit.
Manufacturers specify that the supply voltage for standard CMOS can range over 3 V <V, — Vg < 18V, but
switching speeds are slower at the lower voltages, mainly due to the increased resistances of the “on” transistors.
The output switches between low and high when the input is midway between V},;, and Vg, and the output
logical 1 level will be V},;, and the logical 0 level Vi [Fig. 79.13(c)]. If CMOS is operated with V,,, = 5V and
Vss = 0V, the V},, and Vg levels will be almost compatible with TTL except that the TTL totem-pole output
high of 3.4 V is marginal as a logical 1 for CMOS. To alleviate this, when CMOS is driven with TTL a 3.3-kQ
pull-up resistor between the TTL output and the common V., V},;, supply terminal should be used. This raises
Von of the TTL output to 5 V.

All CMOS inputs are diode protected to prevent static charge
from accumulating on the FET gates and causing punch-through of
the oxide insulating layer. A typical configuration is illustrated in
Fig. 79.14. Diodes D, and D, clamp the transistor gates between V,
and V. Care must be taken to avoid input voltages that would cause
excessive diode currents. For this reason manufacturers specify an
input voltage constraint from Vi — 0.5 V to Vp, + 0.5 V. The
resistance R, helps protect the diodes from excessive currents but is

nput

introduced at the expense of switching speed, which is deteriorated
by the time constant of this resistance and the junction capacitances.

Advanced versions of CMOS have been developed which are
faster than standard CMOS. The first of these to appear were des-
ignated 74HCxx and 74HCTxx. The supply voltage range for this
series is limited to 2 V £ V,;; — Vi < 6 V. The pin numbering of a
given chip is the same as its correspondingly numbered TTL device.
Furthermore, gates with the HCT code have skewed transfer char-
acteristics which match those of its TTL cousin, so that these chips
can be directly interchanged with low-power Schottky TTL.

FIGURE 79.14 Diode protection of input
transistor gates. 200 Q < R, < 1.5 kQ.
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TABLE 79.8 Comparison of Standard, High-Speed, and Advanced High-Speed CMOS

Standard CMOS High-Speed CMOS Advanced CMOS
NORGates Inverter Inverter
Parameter Symbol  Unit  4001B  4011UB  74HC04 74HCTO04 74AC04 74ACT04
Supply voltage Vop-Ves  V 15 15 6 5.5 5.5 5.5
Input voltage Vitimin \Y% 11 12.5 4.2 2 3.85 2
thresholds ViLmax \Y% 4 2.5 1.8 0.8 1.65 0.8
Guaranteed output Vi \Y% 13.5 13.5 5.9 4.5 4.86 4.76
levels at VorLmax \4 1.5 1.5 0.1 0.26 0.32 0.37
maximum IO
Maximum Ion mA -8.8 -3.5 —4 —4 -24 —24
output currents Iy mA 8.8 8.8 4 4 24 24
Noise NM, \% 2.5 2.5 1.7 0.54 1.33 43
margins NMy \Y% 2.5 2.5 1.7 2.5 1.01 1.24
Propagation oy ns 40 40 16 15 4 4.3
times - ns 40 40 16 17 3.5 3.9
Max input Ivmas 1A 0.1 0.1 0.1 0.1 0.1 0.1
current leakage
D-flip-flop 4013B 74HC374  74HCT374A 74AC374 74ACT374
max frequency Frnax MHz 7.0 N.A. 35 30 100 100
(guaranteed
minimum)

More recently, a much faster CMOS has appeared and carries the designations 74ACxx and 74ACTxx. These
operate in the same supply voltage range and bear the same relationship with TTL as the HCMOS. The driving
capabilities (characterized by I, and I,;) of this series are much greater, such that they can be fanned out to
10 low-power Schottky inputs.

The three types of CMOS are compared in Table 79.8. The relative speeds of these technologies are best
illustrated by including in the table the maximum clock frequencies for D flip-flops. In each case, the frequency
given is the maximum for which the device is guaranteed to work. It is worth noting that a typical maximum
clocking of 160 MHz is claimed for the 74ACT374 D flip-flop.

CMOS Design Considerations

Design and handling recommendations for CMOS, which are included in several of the data books, should be
consulted by the designer using this technology. A few selected recommendations are included here to illustrate
the importance of such information.

1. All unused CMOS inputs should be tied either to Vj,, or Vi, whichever is appropriate for proper
operation of the gate. This rule applies even to inputs of unused gates, not only to protect the inputs
from possible static charge buildup, but to avoid unnecessary supply current drain. Floating gate inputs
will cause all the FETs to be conducting, wasting power and heating the chip unnecessarily.

2. CMOS inputs should never be driven when the supply voltage V;,, is off, since damage to the input-
protecting diodes could result. Inputs wired to edge connectors should be shunted by resistors to Vj,,
or Vg to guard against this possibility.

3. Slowly changing inputs should be conditioned using Schmitt trigger buffers to avoid oscillations that
can arise when a gate input voltage is in the transition region.

4. Wired-AND configurations cannot be used with CMOS gates, since wiring an output HIGH to an output
LOW would place two series FETs in the “on” condition directly across the chip supply.

5. Capacitive loads greater than 5000 pF across CMOS gate outputs act as short circuits and can overheat
the output FETs at higher frequencies.

6. Designs should be used that avoid the possibility of having low impedances (such as generator outputs)
connected to CMOS inputs prior to power-up of the CMOS chip. The resulting current surge when Vp,
is turned on can damage the input diodes.

© 2000 by CRC PressLLC



While this list of recommendations is incomplete, it should alert the CMOS designer to the value of the
information supplied by the manufacturers.

Choosing a Logic Family

A logic designer planning a system using SSI and MSI chips will find that an extensive variety of circuits is
available in all three technologies: TTL, ECL, and CMOS. The choice of which technology will dominate the
system is governed by what are often conflicting needs, namely, speed, power consumption, noise immunity,
cost, availability, and the ease of interfacing. Sometimes the decision is easy. If the need for a low static power
drain is paramount, CMOS is the only choice. It used to be the case that speed would dictate the selection;
ECL was high speed, TTL was moderate, and CMOS low. With the advent of advanced TTL and, especially,
advanced CMOS the choice is no longer clear-cut. All three will work at 100 MHz or more. ECL might be used
since it generates the least noise because the transitions are small, yet for that same reason it is more susceptible
to externally generated noise. Perhaps TTL might be the best compromise between noise generation and
susceptibility. Advanced CMOS is the noisiest because of its rapid rise and fall times, but the designer might
opt to cope with the noise problems to take advantage of the low standby power requirements.

A good rule is to use devices which are no faster than the application requires and which consume the least
power consistent with the needed driving capability. The information published in the manufacturers’ data
books and designer handbooks is very helpful when choice is in doubt.

Defining Term

Logic gate: Basic building block for logic systems that controls the flow of pulses.

Related Topics

25.3 Application-Specific Integrated Circuits * 81.2 Logic Circuits
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Further Information

An excellent presentation of the practical design of logic systems using SSI and MSI devices is developed in the
referenced book An Engineering Approach to Digital Design by William I. Fletcher. The author pays particular
attention to the importance of device speed and timing.

The Art of Electronics by Horowitz and Hill is particularly helpful for its practical approach to interfacing
digital with analog.

Everything one needs to know about digital devices and their interconnection can be found somewhere
in the data manuals, design handbooks, and application notes published by the device manufacturers.
Unfortunately, no single publication has it all, so the serious user should acquire as large a collection of
these sources as possible.
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CHAWPTER

13

Digital Logic Circuits

igital computers have taken a prominent place in engineering and science

over the last two decades, performing a number of essential functions such

as numerical computations and data acquisition. It is not necessary to

further stress the importance of these electronic systems in this book, since
you are already familiar with personal computers and programming languages.
The objective of the chapter is to discuss the essential features of digital logic
circuits, which are at the heart of digital computers, by presenting an introduction
to combinational logic circuits.

The chapter starts with a discussion of the binary number system, and con-
tinues with an introduction to Boolean algebra. The self-contained treatment of
Boolean algebra will enable you to design simple logic functions using the tech-
nigues of combinational logic, and several practical examples are provided to
demonstrate that even simple combinations of logic gates can serve to implement
useful circuits in engineering practice. In a later section, we introduce a num-
ber of logic modules which can be described using simple logic gates but which
provide more advanced functions. Among these, we discuss read-only memo-
ries, multiplexers, and decoders. Throughout the chapter, simple examples are
given to demonstrate the usefulness of digital logic circuits in various engineering
applications.
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Chapter 13 Digital Logic Circuits

Chapter 13 provides the background needed to address the study of digital
systems, which will be undertaken in Chapter 14. Upon completion of the chapter,
you should be able to:

- Perform operations using the binary number system.

+ Design simple combinational logic circuits using logic gates.

- Use Karnaugh maps to realize logical expressions.

- Interpret data sheets for multiplexers, decoders, and memory ICs.

13.1 ANALOG AND DIGITAL SIGNALS

One of the fundamental distinctions in the study of electronic circuits (and in
the analysis of any signals derived from physical measurements) is that between
analog and digital signals. As discussed in the preceding chapterabog signal

is an electrical signal whose value varies in analogy with a physical quantity (e.g.,
temperature, force, or acceleration). For example, a voltage proportional to a
measured variable pressure or to a vibration naturally varies in an analog fashion.
Figure 13.1 depicts an analog function of tinf&z). We note immediately that for
each value of time,, f(¢) can take one value among any of the values in a given
range. For example, in the case of the output voltage of an op-amp, we expect the
signal to take any value betweetVs:and— Vsg, WhereVsgis the supply-imposed
saturation voltage.

1
0.8
0.6
0.4
0.2

0

-0.2
-0.4 S

0 50 100 150 20@50 300 350 400
Crank angle (degrees)

Volts

Figure 13.1 \oltage analog of internal
combustion engine in-cylinder pressure

A digital signal, on the other hand, can take onlfimite number of values.
This is an extremely important distinction, as will be shown shortly. An example
of a digital signal is a signal that allows display of a temperature measurement on
a digital readout. Let us hypothesize that the digital readout is three digits long
and can display numbers from 0 to 100, and let us assume that the temperature
sensor is correctly calibrated to measure temperatures from 0 té&-.100rther,
the output of the sensor ranges from 0 to 5 volts, where 0 V correspondb to 0
and 5 V to 100F. Therefore, the calibration constant of the sensor is

100 — 0°

kp=— — 20V
T 5-0
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Clearly, the output of the sensor is an analog signal; however, the display can show
only a finite number of readouts (101, to be precise). Because the display itself can
only take a value out of a discrete set of states—the integers from 0 to 100—we
call it a digital display, indicating that the variable displayed is expressed in digi-
tal form.

Now, each temperature on the display correspondsrémge of voltages:
each digit on the display represents one hundredth of the 5-volt range of the sensor,
or 0.05 V=50 mV. Thus, the display will read 0 if the sensor voltage is between
0and 49 mV, 1ifitis between 50 and 99 mV, and so on. Figure 13.2 depicts the
staircase function relationship between the analog voltage and the digital readout.
This quantization of the sensor output voltage is in effect an approximation. If
one wished to know the temperature with greater precision, a greater number of
display digits could be employed.
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Figure 13.2 Digital representation of an analog signal
The most common digital signals are binary signals. A binary signal isa

signal that can take only one of two discrete values and is therefore characterized
by transitions between two states. Figure 13.3 displaysatypical binary signa. In  f (})

binary arithmetic (which we discussin the next section), the two discrete values f;
and fy arerepresented by the numbers 1 and 0. In binary voltage waveforms, these
values are represented by two voltage levels. For example, inthe TTL convention
(see Chapter 10), these values are (nominally) 5V and 0V, respectively; in CMOS fo
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circuits, these values can vary substantially. Other conventions are also used, to

[

ts

ts

To t

including reversing the assignment—for example, by letting a0-V level represent  Figure 13.3 A binary signal

alogic 1 and a 5-V level represent alogic 0. Note that in a binary waveform,
knowledge of the transition between one state and another (e.g., from f; to f; at
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Table 13.1 Conversion from

decimal to binary

Decimal Binary
number, number,
N1o nz
0 0
1 1
2 10
3 11
4 100
5 101
6 110
7 111
8 1000
9 1001
10 1010
11 1011
12 1100
13 1101
14 1110
15 1111
16 10000

Table 13.2 Rules for
addition

0+0=0
0+1=1
1+0=1
1+ 1=0(withacarry of 1)

Chapter 13 Digital Logic Circuits

t = tp) is equivalent to knowledge of the state. Thus, digital logic circuits can
operate by detecting transitions between voltage levels. The transitions are often
called edges and can be positive (fp to f1) or negative ( f1 to fp). Virtualy all of
the signals handled by a computer are binary. From here on, whenever we speak
of digital signals, you may assumethat thetext isreferring to signals of the binary
type, unless otherwise indicated.

13.2 THE BINARY NUMBER SYSTEM

The binary number system is a natural choice for representing the behavior of
circuits that operate in one of two states (on or off, 1 or O, or the like). The diode
and transistor gates and switches studied in Chapter 10 fall in this category. Table
13.1 shows the correspondence between decimal and binary number systems for
decimal numbers up to 16.

Binary numbers are based on powers of 2, whereas the decimal system is
based on powers of 10. For example, the number 372 in the decimal system can
be expressed as

372 = (3 x 10%) + (7 x 10%) + (2 x 10%)

while the binary number 10110 corresponds to the following combination of pow-
ersof 2:

10110=(1x2H 4+ 0x 22+ 1 x 22+ (1 x 2% + (0 x 29

Itisrelatively simple to see the correspondence between the two number systems
if we add the terms on the right-hand side of the previous expression. Let n;
represent the number n base 2 (i.e., in the binary system) and 1o the same number
base 10. Then, our notation will be as follows:

10110, =16+ 0+ 442+ 0= 22y

Note that afractional number can also be similarly represented. For example, the
number 3.25 in the decimal system may be represented as

3250=3x10°+2x 101 +5x 1072
while in the binary system the number 10.011 corresponds to
10011, =1x 21 4+0x 204+0x214+1x2241x 23
=2+0+0+ 3+ 5 =2375p

Table 13.1 shows that it takes four binary digits, also called bits, to represent the
decimal numbersupto 15. Usually, therightmost bit iscalled theleast significant
bit, or L SB, and the leftmost bit is called the most significant bit, or M SB. Since
binary numbers clearly require a larger number of digits than decimal numbers,
thedigitsareusually grouped in setsof four, eight, or sixteen. Four bitsare usually
termed anibble, eight bits are called a byte, and sixteen bits (or two bytes) form
aword.

Addition and Subtraction

The operations of addition and subtraction are based on the simple rules shownin
Table 13.2. Note that, just asis done in the decimal system, a carry is generated
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whenever the sum of two digits exceedsthe largest single-digit number in the given
number system, which is 1 in the binary system. The carry istreated exactly asin
the decimal system. A few examples of binary addition are shown in Figure 13.4,
with their decimal counterparts.

Decimal Binary | Decimal Binary | Decimal Binary
5 101 15 1111 3.25 11.01

+6 +110 +20 +10100 | +5.75  +101.11
11 1011 35 100011 9.00  1001.00

(Note that in this example, 3.25 = 3} and 5.75 = 53.)
Figure 13.4 Examples of binary addition
The procedure for subtracting binary numbersis based on the rules of Table

13.3. A few examples of binary subtraction are given in Figure 13.5, with their
decimal counterparts.

Decimal Binary | Decimal Binary | Decimal Binary

9 1001 16 10000 6.25 110.01
-5 -101 =3 -11 -4.50  -100.10
4 0100 13 01101 175 001.11

Figure 13.5 Examples of binary subtraction

Multiplication and Division

Whereas in the decimal system the multiplication table consists of 10> = 100
entries, in the binary system we only have 2° = 4 entries. Table 13.4 represents
the complete multiplication table for the binary number system.

Division in the binary system is also based on rules analogous to those of
the decimal system, with the two basic laws given in Table 13.5. Once again, we
need be concerned with only two cases, and just asin the decimal system, division
by zero is not contemplated.

Conversion from Decimal to Binary

The conversion of a decimal number to its binary equivaent is performed by
successive division of the decimal number by 2, checking for the remainder each
time. Figure 13.6 illustrates this idea with an example. The result obtained in
Figure 13.6 may be easily verified by performing the opposite conversion, from
binary to decimal:

110001 =25+ 2+ 20 =32+ 16+ 1 =49

The same technique can be used for converting decimal fractional numbersto their
binary form, provided that the whole number is separated from the fractional part
and each is converted to binary form (separately), with the results added at the

603

Table 13.3 Rules for
subtraction

0-0=0
1-0=1
1-1=0
0— 1= 1 (withaborrow of 1)

Table 13.4 Rules for
multiplication

0x0=0
0x1=0
1x0=0
I1x1=1

Table 13.5 Rules for

division
0+-1=0
1-1=1
Remainder
49 +2=24+1
24+2=12+0
12+2= 6+0
6+2= 3+0
3+2= 1+1
1+2= 0+1
492=1100012

Figure 13.6 Example of
conversion from decimal to binary
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Remainder
37+2=18+1
18+2= 9+0
9+2= 4+1
4+2= 2+0
2+2=1+0
1+-2= 0+1

37,0 = 100101,

2x053=106 -1
2x0.06=012 - 0
2x012=024 - 0
2x024=048 - 0
2%x048=09 - 0
2x096=192 - 1
2x092=184 -1
2x084=168 - 1
2x068=136 -1
2x036=072 - 0
2x072=144 - 1

0.53;7 =0.10000111101

Figure 13.7 Conver-

sion from decimal to
binary

Chapter 13 Digital Logic Circuits

end. Figure 13.7 outlines this procedure by converting the number 37.53 to binary
form. The procedureis outlined in two steps. First, the integer part is converted;
then, to convert the fractional part, one simple technique consists of multiplying
the decimal fraction by 2 in successive stages. If theresult exceeds 1, alisneeded
to the right of the binary fraction being formed (100101..., in our example).
Otherwise, a 0 is added. This procedure is continued until no fractional terms
are left. In this case, the decimal part is 0.53,9, and Figure 13.7 illustrates the
succession of calculations. Stopping the procedure outlined in Figure 13.7 after
11 digits results in the following approximation:

37.53;0 = 100101.10000111101

Greater precision could be attained by continuing to add binary digits, at the
expense of added complexity. Note that an infinite number of binary digits may
be required to represent a decimal number exactly.

Complements and Negative Numbers

To simplify the operation of subtraction in digital computers, complements are
used almost exclusively. In practice, this corresponds to replacing the operation
X — Y with the operation X + (—Y). This procedure results in considerable
simplification, since the computer hardware need include only adding circuitry.
Two types of complements are used with binary numbers. the one’s complement
and the two’'s complement.
The one’s complement of an n-bit binary number is obtained by subtracting
the number itself from (2" — 1). Two examples are as follows:
a = 0101
One'scomplementof a = (2* — 1) —a
= (1111) — (0101)
= 1010
b =101101
One'scomplementof b = (26 — 1) — b
= (111111) — (101101)
= 010010
The two’s complement of an r-bit binary number is obtained by subtracting
the number itself from 2. Two's complements of the same numbersa and b used
in the preceding illustration are computed as follows:
a = 0101
Two's complement of ¢ = 2% — a
= (10000) — (0101)
= 1011
b = 101101
Two's complement of b = 26 — b
= (1000000) — (101101)
= 010011

A simple rule that may be used to obtain the two’s complement directly from a
binary number is the following: Starting at the least significant (rightmost) bit,
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copy each bit until the first 1 has been copied, and then replace each successive
1by aOandeach 0by al Youmay wish to try this rule on the two previous
examples to verify that it is much easier to use than the subtraction from 2.

Different conventionsexist in the binary system to represent whether anum-
ber is negative or positive. One convention, called the sign-magnitude conven-
tion, makesuse of asign bit, usually positioned at the beginning of the number, for
which avalue of 1 represents a minus sign and avalue of 0, aplussign. Thus, an
eight-bit binary number would consist of a sign bit followed by seven magnitude
bits, as shown in Figure 13.8(a). In a digital system that uses eight-bit signed
integer words, we could represent integer numbers (decimal) in the range

—@" -1 <N<+@2" -1
or

127 < N < +127

[Sonbitb, [ B | b | b, | b | b, | by | by

« Actual magnitude of binary number —

@

[Snbitb, [ b | bs | by | by | b, | by | by
« Actual magnitude of binary number (if b;=0) -
~ One's complement of binary number (if b; = 1) -

(b)
Sonbitb; | by | by | b, | by | b, | b | b

~ Actual magnitude of binary number (if b; =0) -
~ Two's complement of binary number (if b, =1) -

©

Figure 13.8 (a) Eight-bit sign-magnitude binary number; (b)
Eight-bit one’s complement binary number; (c) Eight-bit two’'s
complement binary number

A second convention usesthe one’ scomplement notation. Inthisconvention,
a sign bit is also used to indicate whether the number is positive (sign bit = 0)
or negative (sign bit = 1). However, the magnitude of the binary number is
represented by the true magnitude if the number is positive, and by its one's
complement if the number is negative. Figure 13.8(b) illustrates the convention.
For example, the number (91);0 would be represented by the seven-bit binary
number (1011011), with aleading O (the sign bit): (01011011),. On the other
hand, the number (—91),0 would berepresented by the seven-bit one’scomplement
binary number (0100100), with aleading 1 (the sign hit): (10100100),.

Most digital computers use the two's complement convention in performing
integer arithmetic operations. The two’s complement convention represents pos-
itive numbers by a sign bit of O, followed by the true binary magnitude; negative
numbersarerepresented by asign bit of 1, followed by the two’ scomplement of the
binary number, as shown in Figure 13.8(c). The advantage of the two’'s comple-
ment convention isthat the algebraic sum of two’s complement binary numbersis
carried out very simply by adding thetwo numbersincluding the sign bit. Example
13.1illustrates two's complement addition.
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EXAMPLE 13.1 Two’s Complement Operations
Problem
Perform the following subtractions using two’s complement arithmetic:

1. X —Y =1011100 — 1110010
2. X —Y =10101111 — 01110011

Solution

Analysis: Thetwo's complement subtractions are performed by replacing the operation
X — Y with the operation X + (—Y). Thus, we first find the two’'s complement of ¥ and
add the result to X in each of the two cases:

X — Y = 1011100 — 1110010 = 1011100 + (27 — 1110010)
= 1011100 + 0001110 = 1101010

Next, we add the sign bit (in boldface type) in front of each number (1 in first case since
the difference X — Y isanegative number):

X —Y =11101010
Repeating for the second subtraction gives:

X — Y = 10101111 — 01110011 = 10101111 + (2® — 01110011) = 10101111
410001101 = 00111100
= 000111100

wherethefirst digitisa 0 because X — Y isapositive number.

Table 13.6 Hexa-
decimal code

MTMUOT>OO~NOTRWNRO

0000
0001
0010
0011
0100
0101
0110
0111
1000
1001
1010
1011
1100
1101
1110
1111

The Hexadecimal System

It should be apparent by now that representing numbers in base 2 and base 10
systems is purely a matter of convenience, given a specific application. Another
base frequently used is the hexadecimal system, adirect derivation of the binary
number system. In the hexadecimal (or hex) code, the bitsin abinary number are
subdividedinto groupsof four. Sincethereare 16 possible combinationsfor afour-
bit number, the natural digitsin the decimal system (O through 9) are insufficient
to represent a hex digit. To solve this problem, the first six |etters of the al phabet
areused, asshownin Table 13.6. Thus, in hex code, an eight-bit word corresponds
to just two digits; for example:

10100111, = A7:6
0010 1001, = 2946

Binary Codes

In this subsection, we describe two common binary codes that are often used for
practical reasons. Thefirst isamethod of representing decimal numbersin digital
logic circuits that is referred to as binary-coded decimal, or BCD, represen-
tation. In effect, the smplest BCD representation is just a sequence of four-bit
binary numbersthat stopsafter thefirst 10 entries, asshownin Table13.7. Thereare
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Table 13.7 BCD Table 13.8 Three-bit
code Gray code

0 0000 Binary Gray
1 0001

2 0010 000 000
3 0011 001 001
4 0100 010 011
5 0101 011 010
6 0110 100 110
7 0111 101 111
8 1000 110 101
9 1001 111 100

also other BCD codes, all reflecting the same principle: that each decimal digit
is represented by a fixed-length binary word. One should realize that although
this method is attractive because of its direct correspondence with the decimal
system, it is not efficient. Consider, for example, the decimal number 68. Its
binary representation by direct conversion is the seven-bit number 1000100. On
the other hand, the corresponding BCD representation would require eight bits:

6810 = 01101000gcH

Another codethat finds many applicationsisthe Gray code. Thisissimply a
reshuffling of the binary code with the property that any two consecutive numbers
differ only by one bit. Table 13.8 illustrates the three-bit Gray code. The Gray
code can be very useful in practical applications, because in counting up or down
according to this code, the binary representation of a number changes only one
bit at atime. The next example illustrates an application of the Gray code to a
practical engineering problem.

Digital Position Encoders FIND IT

Position encoder s are devices that output a digital signal propor-
tional to their (linear or angular) position. These devices are very
useful in measuring instantaneous position in mation control
applications. Motion control is atechnique that is used when it is necessary
to accurately control the motion of amoving object; examples are found in
robotics, machine tools, and servomechanisms. For example, in positioning
the arm of arobot to pick up an object, it is very important to know its exact
position at all times. Since oneis usually interested in both rotational and
tranglational motion, two types of encoders are discussed in this example:
linear and angular position encoders.

An optical position encoder consists of an encoder pad, which is either
astrip (for translational motion) or adisk (for rotational motion) with
aternating black and white areas. These areas are arranged to reproduce
some hinary code, as shown in Figure 13.9, where both the conventional
binary and Gray codes are depicted for afour-bit linear encoder pad. A fixed
array of photodiodes (see Chapter 8) senses the reflected light from each of
the cells across arow of the encoder path; depending on the amount of light

ON THE WEB
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Decimal Binary Decimal Gray code
15 1111 15 1000
14 1110 14 1001
13 1101 13 1011
12 1100 12 1010
11 1011 11 1110
10 1010 10 1111

9 1001 9 1101
8 1000 8 1100
7 0111 7 0100
6 0110 6 0101
5 0101 5 0111
4 0100 4 0110
3 0011 3 0010
2 0010 2 0011
1 0001 1 0001
0 0000 0 0000

Figure 13.9 Binary and Gray code patterns for
linear position encoders

reflected, each photodiode circuit will output a voltage corresponding to a
binary 1 or 0. Thus, adifferent four-bit word is generated for each row of the
encoder.

Suppose the encoder pad is 100 mm in length. Then its resolution can
be computed as follows. The pad will be divided into 2* = 16 segments, and
each segment corresponds to an increment of 100/16 mm = 6.25 mm. If
greater resolution were necessary, more bits could be employed: an eight-bit
pad of the same length would attain aresolution of 100/256 mm = 0.39 mm.

A similar construction can be employed for the five-bit angular encoder
of Figure 13.10. In this case, the angular resolution can be expressed in
degrees of rotation, where 2° = 32 sections correspond to 360°. Thus, the
resolution would be 360° /32 = 11.25°. Once again, greater angular
resolution could be obtained by employing alarger number of bits.

Binary sequence

Figure 13.10 Binary and Gray code patterns for angular position encoders

EXAMPLE 13.2 Conversion from Binary to Hexadecimal

Problem

Convert the following binary numbers to hexadecimal form.
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100111
1011101
11001101
101101111001
100110110
1101011011

S e AR

Solution

Analysis: A simple method for binary to hexadecimal conversion consists of grouping
each binary number into four-bit groups, and then performing the conversion for each
four-bit word following Table 13.6:
1. 100111, = 0010,0111, = 2746
1011101, = 0101,1101, = 5Dy
11001101, = 1100,1101, = CD3¢
101101111001, = 1011,0111,1001, = B79;4
100110110, = 0001,0011,0100, = 13646
1101011011, = 0011,0101,1011, = 35Bs4

o g ks w DN

Comments: Notethat we start grouping always from the right-hand side. The reverse
processis equally easy: To convert from hexadecimal to binary, replace each hexadecimal
number with the equivalent four-bit binary word.
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Check Your Understanding

13.1 Convert thefollowing decimal numbersto binary form:

a 39 b. 59

c. 512 d. 04475

e 2 f. 0796875

g. 256.75 h. 129.5625

i. 4,096.90625

13.2 Convert the following binary numbers to decimal:

1101 b. 11011

c. 10111 d. 01011

e. 0.001101 f.  0.001101101

g. 111011.1011 h. 1011011.001101

i. 10110.0101011101

13.3 Perform the following additions and subtractions. Express the answer in decimal
form for problems (a)—(d) and in binary form for problems (e)—(h).

a 1001.1,+1011.01, b. 100101, + 100101,
c. 01011,+0.1101, d. 1011.01,+ 1001.11,
e 64— 329 f. 12710 — 6310
g 93.5, —42.75 h.  (843)10 — (482)10
13.4 How many possible numbers can be represented in a 12-bit word?
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Table 13.9 Rules
for logical addition (OR)

0+0=0
0+1=1
1+0=1
1+1=1

P P O Of X
P P P O|N

Truth table

Figure 13.11 Log-
ical addition and the
OR gate

Chapter 13 Digital Logic Circuits

13.5 If weusean eight-bit word with asign bit (seven magnitude bits plus one sign bit)
to represent voltages —5V and +5 V, what isthe smallest increment of voltage that can be
represented?
13.6 Convert the following numbers from hex to binary or from binary to hex:

a F83 b. 3C9

c. A6 d. 110101110,

e. 10111001, f. 11011101101,
13.7 Find thetwo's complement of the following binary numbers:

a 11101001 b. 10010111 c. 1011110

13.8 Convert the following numbers from hex to binary, and find their two's comple-
ments:

a F43 b.2B9 c. A6

13.3 BOOLEAN ALGEBRA

The mathematics associated with the binary number system (and with the more
general field of logic) is called Boolean, in honor of the English mathematician
George Boole, who published a treatise in 1854 entitled An Investigation of the
Laws of Thought, on Which Are Founded the Mathematical Theories of Logic and
Probabilities. The development of alogical algebra, as Boole called it, is one of
the results of hisinvestigations. The variablesin a Boolean, or logic, expression
can takeonly one of two values, usually represented by thenumbersOand 1. These
variables are sometimes referred to as true (1) and false (0). This convention is
normally referred to as positive logic. There is also a negative logic convention
inwhichtherolesof logic 1 and logic O are reversed. Inthisbook we shall employ
only positive logic.

Analysisof logicfunctions, that is, functions of logical (Boolean) variables,
canbecarried outintermsof truthtables. A truthtableisalisting of all the possible
values each of the Boolean variables can take, and of the corresponding value of
the desired function. In the following paragraphs we shall define the basic logic
functions upon which Boolean algebra is founded, and we shall describe each
in terms of a set of rules and a truth table; in addition, we shall also introduce
logic gates. Logic gates are physical devices (see Chapter 10) that can be used to
implement logic functions.

AND and OR Gates

Thebasisof Boolean algebraliesinthe operations of logical addition, or theOR
operation; and logical multiplication, or the AND operation. Both of these find
a correspondence in simple logic gates, as we shall presently illustrate. Logical
addition, although represented by the symbol +, differs from conventional alge-
braic addition, as shown in the last rule listed in Table 13.9. Note that this rule
also differs from the last rule of binary addition studied in the previous section.
Logical addition can be represented by the logic gate called an OR gate, whose
symbol and whose inputs and outputs are shown in Figure 13.11. The OR gate
represents the following logical statement:

If either X or Y istrue (1), then Z istrue(l). (13.1)
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This rule is embodied in the electronic gates discussed in Chapter 9, in which a
logic 1 corresponds, say, to a5-V signal and alogic 0to a0-V signal.

Logical multiplication is denoted by the center dot (-) and is defined by the
rules of Table 13.10. Figure 13.12 depicts the AND gate, which corresponds to
this operation. The AND gate corresponds to the following logical statement:

If both X and Y aretrue (1), then Z istrue (1). (13.2)

One can easily envision logic gates (AND and OR) with an arbitrary number of
inputs; three- and four-input gates are not uncommon.

The rules that define alogic function are often represented in tabular form
by means of atruth table. Truth tables for the AND and OR gates are shown in
Figures 13.11 and 13.12. A truth table is nothing more than a tabular summary
of all of the possible outputs of alogic gate, given all the possible input values.
If the number of inputs is 3, the number of possible combinations grows from
4 to 8, but the basic idea is unchanged. Truth tables are very useful in defining
logic functions. A typical logic design problem might specify requirements such
as “the output Z shall be logic 1 only when the condition (X = 1LAND Y =
1) OR (W = 1) occurs, and shall be logic 0 otherwise” The truth table for
this particular logic function is shown in Figure 13.13 as an illustration. The
design consists, then, of determining the combination of logic gates that exactly
implements the required logic function. Truth tables can greatly simplify this
procedure.

The AND and OR gatesform the basis of al logic design in conjunction with
the NOT gate. The NOT gate is essentialy an inverter (which can be constructed
using bipolar or field-effect transistors, asdiscussed in Chapter 10), and it provides
the complement of the logic variable connected to itsinput. The complement of a
logic variable X is denoted by X. The NOT gate has only one input, as shown in
Figure 13.14.

To illustrate the use of the NOT gate, or inverter, we return to the design
example of Figure 13.13, where we required that the output of alogic circuit be
Z=1lonlyif X =0AND Y = 10Rif W = 1. We recognize that except for
the requirement X = 0, this problem would beidentical if we stated it asfollows:
“The output Z shall be logic 1 only when the condition (X = 1AND Y = 1) OR
(W = 1) occurs, and shall be logic 0 otherwise.” If we use an inverter to convert
X to X, we see that the required condition becomes (X = 1 AND Y = 1) OR
(W = 1). The formal solution to this elementary design exerciseisillustrated in
Figure 13.15.

In the course of the discussion of logic gates, extensive use will be made of
truth tables to evaluate logic expressions. A set of basic rules will facilitate this
task. Table 13.11 lists some of the rules of Boolean algebra; each of these can
be proven by using atruth table, as will be shown in examples and exercises. An
example proof for rule 16 is given in Figure 13.16 in the form of atruth table.
Thistechnique can be employed to prove any of thelaws of Table 13.11. Fromthe
simpletruth tablein Figure 13.16, which was obtained step by step, we can clearly
see that indeed X - (X + Y) = X. This methodology for proving the validity
of logical equationsis called proof by perfect induction. The 19 rules of Table
13.11 can be used to simplify logic expressions.

To complete theintroductory material on Boolean algebra, afew paragraphs
need to be devoted to two very important theorems, called De M or gan’stheorems.

Table 13.10 Rules
for logical
multiplication (AND)

rrROO
rORO
([ |
rooo

X |
Y —]
AND gate

AND z

P P O O X
o r of <<
»r O o o|N

1
Truth table

Figure 13.12 Log-
ical multiplication and
the AND gate

Logic gate redlization of the
statement “the output Z shall be
logic 1 only when the condition
(X=1ANDY=1)OR(W=1)
occurs, and shall belogic 0
otherwise.”

X Y W| z
0 0 O 0
0 0 1 1
0 1 0 0
0 1 1 1
1 0 O 0
1 0 1 1
1 1 0 1
1 1 1 1
Truth table
X
AND
Y —]
w b z

Solution using logic gates

Figure 13.13 Example of
logic function implementation
with logic gates
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X Y | (X+Y)[X(X+Y)
0 0 0 0
0 1 1 0
1 0 1 1
1 1 1 1

Figure 13.16 Proof of rule
16 by perfect induction

Chapter 13 Digital Logic Circuits

= (Required
X O0— X X X Y W/ Z |logic
01 00 o | function)
NOT gate 01 0 1] 1
0O 1 1 o0 1
X X 0 1 1 1 1
1 0 1 0 0 O 0
0 1 1 0 0 1 1
1 0 1 O 0
Truth table for NOT gate 10 11 1
Figure 13.14 Com- Truth table
plements and the NOT
gate

Solution using logic gates

Figure 13.15 Solution of a
logic problem using logic gates

Table 13.11 Rules of Boolean algebra

=

P
w N P O

© © N o A~ WD

X Y=Y X
X+ Y +2)=X+V+Z }
X (Y -2)=(X-Y)-Z

14.
15.
16.
17.
18.
19.

0+X=X

1+ X =1

X+X=X
X+X=1
0-X=0

M B

X=X
X=X
X=0

> x|
I

X
+Y=Y+X

} Commutative law

Associative law

X Y+2)=X-Y+X-Z Distributive law
X+X-Z2=X Absorption law
X (X+Y)=X

X+Y)- X+2Z)=X+Y-Z

X+X-Y=X+7Y

X Y+Y - Z4+X - Z=X-Y+X-Z

These are stated here in the form of logic functions:

X+Y)=X-Y

X Y)=X+Y

These two laws state a very important property of logic functions:

(13.3)

(13.4)
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Any logic function can be implemented using only OR and NOT gates,
or using only AND and NOT gates.

De Morgan’s laws can easily be visualized in terms of logic gates, as shown in
Figure 13.17. The associated truth tables are proof of these theorems.

(x +Y) o i . ? Truth table
X Y| Z=(X+Y)=X-Y
0O O 1
. X — NOT 0o 1 0
— 1 0 0
v b b‘ z = AND}-Z | 4 o
Y —{ NOT
(X-Y) = X+Y Truth table

Y| Z=(X+Y)=X+Y

Y —

>
>
pd
O
O
N
1
N
PR OoOO| X
PORFRO

1

1
1
0

Y —NOT >0

Figure 13.17 De Morgan's laws

The importance of De Morgan's lawsisin the statement of the duality that
exists between AND and OR operations: any function can be realized by just one
of the two basic operations, plus the complement operation. This givesriseto two
families of logic functions: sums of products and product of sums, as shown in
Figure 13.18. Any logical expression can be reduced to either one of these two
forms. Although the two forms are equivalent, it may well be true that one of
the two has a simpler implementation (fewer gates). Example 13.3 illustrates this
point.

o s oD

AND
Y — B

) oR>— X9+ W) [anD)— (4 +)c+)

. o

AND
Z— D

Sum of products Product of sums

expression expression
(X-Y) + (W-2) (A+B)-(C+D)

Figure 13.18 Sum-of-products and product-of-sums logic functions
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EXAMPLE 13.3 Simplification of Logical Expression

Problem

Using therules of Table 13.11, simplify the following function using the rules of Boolean
agebra

f(A,B,C,D)=A-B-D+A-B-D+B-C-D+A-C-D

Solution
Find: Simplified expression for logical function of four variables.
Analysis:

f=A-B-D+A-B-D+B-C-D+A-C-D

=A-D-(B+B)+B-C-D+A-C-D Rule 14
=A-D+B-C-D+A-C-D Rule 4
=(A+A-C)-D+B-C-D Rule 14
=(A+C)-D+B-C-D Rule 18
=A-D+C-D+B-C-D Rule 14
=A-D+C-D-(1+B) Rule 14
=A-D+C-D=(A+C)-D Rules2 and 6

Fail-Safe Autopilot Logic
This example aimsto illustrate the significance of De Morgan’'s laws and of
the duality of the sum-of-products and product-of-sums forms. Suppose that
afail-safe autopilot system in a commercial aircraft requiresthat, prior to
initiating a takeoff or landing maneuver, the following check must be
passed: two of three possible pilots must be available. The three possibilities
are the pilot, the co-pilot, and the autopilot. Imagine further that there exist
switchesin the pilot and co-pilot seats that are turned on by the weight of the
crew, and that a self-check circuit exists to verify the proper operation of the
autopilot system. Let the variable X denote the pilot state (1 if the pilot is
sitting at the controls), Y denote the same condition for the co-pilot, and Z
denote the state of the autopilot, where Z = 1 indicates that the autopilot is
functioning. Then, since we wish two of these conditions to be active before
the maneuver can be initiated, the logic function corresponding to “system
ready” is:

f=X-Y+X-Z+Y-Z
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This can & so be verified by the truth table shown below.

Pilot | Co-pilot | Autopilot | System ready
0 0 0 0
0 0 1 0
0 1 0 0
0 1 1 1
1 0 0 0
1 0 1 1
1 1 0 1
1 1 1 1

The function f defined above is based on the notion of a positive check; that
is, it indicates when the system isready. Let us now apply De Morgan’s laws
to the function f, which isin sum-of-products form:

f=g=XY+X-Z+Y Z=X+Y)- X+2)-Y +2)

The function g, in product-of-sums form, conveys exactly the same
information as the function £, but it performs a negative check; in other
words, g verifies the system not ready condition. You see then that whether
one chooses to implement the function in one form or another issimply a
meatter of choice; the two forms give exactly the same information.

VIRTUAL LAB
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EXAMPLE 13.4 Realizing Logic Functions from Truth Tables

Problem

Readlize the logic function described by the truth table below.

>

©

(@]

P P PP OOOOo

P P OO PFr OO

P OFrP OFr OFr O

R R R R R OPRO|<

Solution

Known Quantities: Value of function y(A, B, C) for each possible combination of

logical variables A, B, C.

Find: Logica expression realizing the function y.
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A
A+C=y or
y cy

Figure 13.19

Chapter 13 Digital Logic Circuits

Analysis: To determine alogical expression for the function y, wefirst need to convert
the truth table into alogical expression. We do so by expressing y as the sum of the
products of the three variables for each combination that yields y = 1. If the value of a
variableis 1, we use the uncomplemented variable. If it's 0, we use the complemented
variable. For example, the second row (first instance of y = 1) would yield theterm

A-B-C.Thus,

y=A-B-C+A-B-C+A-B-C+A-B-C+A-B-C+A-B-C
=A-CB+B)+A-B-(C+C)+A-B-(C+0)
=A-C+A-B+A-B=A-C+A-(B+B)=A-C+A=A+C.

Thus, the function is atwo-input OR gate, as shown in Figure 13.19.

Comments: The derivation above has made use of two rules from Table 13.11: rules4
and 18. Could you have predicted that the variable B would not be used in the final
realization? Why?

EXAMPLE 13.5 DeMorgan’s Theorem and Product-of-Sums
Expressions

Problem

Realize thelogic function y = A 4+ B - C in product-of-sums form. Implement the
solution using AND, OR, and NOT gates.

Solution

Known Quantities: Logica expression for the function y(A, B, C).

Find: Physical realization using AND, OR, and NOT gates.

Analysis: We usethe fact that y = y and apply DeMorgan’s theorem as follows:
y=A+(B-CO)=A-(B-C)=A-(B+C)

?:y:Z-(E-l—a.

The above sum-of-products function is realized using complements of each variable
(obtained using NOT gates) and is finally complemented as shown in Figure 13.20.

A_|>07AND y
B }.
ol

Figure 13.20

Comments: It should be evident that the original sum-of-products expression, which
could be implemented with just one AND and one OR gate has a much more efficient
realization. In the next section we show a systematic approach to function minimization.
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Focus on Computer-Aided Solutions: An Electronics Workbench™ simulation of the
logic circuit of Figure 13.20 may be found in the accompanying CD-ROM.

VIRTUAL LAB
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NAND and NOR Gates

In addition to the AND and OR gates we have just analyzed, the complementary
forms of these gates, called NAND and NOR, are very commonly used in practice.
Infact, NAND and NOR gatesformthebasisof most practical logiccircuits. Figure
13.21 depicts these two gates, and illustrates how they can be easily interpreted
in terms of AND, OR, and NOT gates by virtue of De Morgan’s laws. You can
readily verify that the logic function implemented by the NAND and NOR gates
corresponds, respectively, to AND and OR gatesfollowed by an inverter. Itisvery
important to note that, by De Morgan’s laws, the NAND gate performs alogical
addition on the complements of the inputs, while the NOR gate performsalogical
multiplication on the complements of the inputs. Functionaly, then, any logic
function could be implemented with either NOR or NAND gates only.

g:@o_ (A-B)=A+B '; (A+B)=A-B
" ano A'B o) ’;A*B *+B)

A B A B [(A-B) A B A B |(A+B)

0 0 1 1 1 0 0 1 1 1

0 1 1 0 1 0 1 1 0 0

1 0 0 1 1 1 0 0 1 0

1 1 0 0 0 1 1 0 0 0
NAND gate NOR gate

Figure 13.21 Equivalence of NAND and NOR gates with AND and OR gates

In the next section we shall learn how to systematically approach the design
of logic functions. First, we provide afew examplestoillustrate logic design with
NAND and NOR gates.

EXAMPLE 13.6 Realizing the AND Function with NAND Gates
Problem

Use atruth table to show that the AND function can be realized using only NAND gates,
and show the physical realization.

Solution

Known Quantities: AND and NAND truth tables.
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A |[B=A| AB | (AB) Find: AND realization using NAND gates.
0 0 1 Assumptions: Consider two-input functions and gates.
1 1 0

Analysis: The truth table below summarizes the two functions:

>

*‘

>|
>
vy]
>
[vs]
>
@

Figure 13.22 NAND gate
as an inverters

PPk OO
R OFr o

g_NAND A8 @D‘A'B Clearly, to realize the AND function we need to simply invert the output of aNAND gate.

) Thisis easily accomplished if we observe that a NAND gate with its inputs tied together
Figure 13.23 acts as an inverter; you can verify thisin the above truth table by looking at the NAND
output for the input combinations 0-0 and 1-1, or by referring to Figure 13.22. Thefinal
realization is shown in Figure 13.23.

Comments: NAND gates naturally implement functions that contain complemented
products. Gates that employ negative logic are anatural consequence of the inverting
characteristics of transistor switches (refer to Section 10.5). Thus, one should expect that
NAND (and NOR) gates are very commonly employed in practice.

A .@. A EXAMPLE 13.7 Realizing the AND Function with NOR Gates
Problem
A —|>o— A Show analytically that the AND function can be realized using only NOR gates, and

determine the physical realization.

A [B(=A)|[(A+B)|(A+B)

0 0 1
1 1 1 0 Solution
Figure 13.24 NOR gate as Known Quantities: AND and NOR functions.
an inverter

Find: AND redlization using NOR gates.
Assumptions: Consider two-input functions and gates.

Analysis: We can solve this problem using De Morgan’s theorem. The output of an
AND gate can be expressed as f = A - B. Using De Morgan’s theorem we write:

f=f=A-B=A+B

(A+B)=AB The above function isimplemented very easily if we see that aNOR gate with itsinput
Figure 13.25 tied together acts asa NOT gate (see Figure 13.24). Thus, the logic circuit of Figure 13.25
provides the desired answer.

Comments: NOR gates naturally implement functions that contain complemented sums.
Gates that employ negative logic are anatural consequence of the inverting characteristics
of transistor switches (refer to Section 10.5). Thus, one should expect that NOR (and
NAND) gates are very commonly employed in practice.

VIRTUAL LAB
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EXAMPLE 13.8 Realizing a Function with NAND and NOR
Gates

Problem

Realize the following function using only NAND and NOR gates:

y=(A-B)+C

Solution

Known Quantities: Logical expression for y.
Find: Realization of y using only NAND and NOR gates.
Assumptions: Consider two-input functions and gates.

Analysis: On the basis of the two preceding examples, we see that we can realize the
term Z = (A - B) using atwo-input NAND gate, and theterm Z + C using atwo-input
NOR gate. The solution is shown in Figure 13.26. VIRTUAL LAB

The XOR (Exclusive OR) Gate

It is rather common practice for a manufacturer of integrated circuits to provide
common combinations of logic circuitsin asingleintegrated circuit package. We
review many of these common logic modules in Section 13.5. An example of

this idea is provided by the exclusive OR (XOR) gate, which provides a logic
function similar, but not identical, to the OR gate we have already studied. The X:) s=x0Y
XOR gate acts as an OR gate, except when its inputs are al logic 1s; in this Y

case, the output is a logic O (thus the term exclusive). Figure 13.27 shows the

logic circuit symbol adopted for this gate, and the corresponding truth table. The o R
logic function implemented by the XOR gate is the following: “either X or Y, o (oo
but not both.” This description can be extended to an arbitrary number of in- o1 1)1
puts. 1101
The symbol adopted for the exclusive OR operation is @, and so we shall 111710
write Truth table
Z=XpY Figure 13.27 XOR gate
to denote this logic operation. The XOR gate can be obtained by a combination
of the basic gates we are already familiar with. For example, if we observe that
the XOR function correspondsto Z = X @Y = (X +Y) - (X - Y), wecan reaize
the XOR gate by means of the circuit shown in Figure 13.28. X——@_L
Common IC logic gate configurations, device numbers, and data sheets are 7 .
included in the CD-ROM that accompanies this book. These devices aretypically AND
available in both of the two more common device families, TTL and CMOS. @)I

The devices listed in the CD-ROM are available in CMOS technology under
the numbers SN74AHXX. The same logic gate ICs are also available as TTL Figure 13.28 Realization of
devices. an XOR gate
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Check Your Understanding
13.9 Show that one can obtain an OR gate using NAND gates only. [Hint: Use three
NAND gates]

13.10 Show that one can obtain an AND gate using NOR gatesonly. [Hint: Usethree
NOR gates.]

13.11 Prepare astep-by-step truth table for the following logic expressions:
aX+Y+20)+(X-Y-2)-X
b. X-Y-Z+Y-(Z+W)
c X-Y+Z-W)-W-X+Z-Y)

[Hint: Your truth table must have 2" entries, where n is the number of logic variables.]

13.12 Implement the logic functions of Check Your Understanding Exercise 13.11
using NAND and NOR gates only. [Hint: Use De Morgan's theorems and the fact that
=1l

13.13 Implement the logic functions of Check Your Understanding Exercise 13.11
using AND, OR, and NOT gates only.

13.14 Showthatthe XORfunction canalsobeexpressedasZ = X-Y +Y - X. Redlize
the corresponding function using NOT, AND, and OR gates. [Hint: Usetruth tablesfor the
logic function Z ( as defined in the exercise) and for the XOR function.]

13.4 KARNAUGH MAPS AND LOGIC DESIGN

In examining the design of logic functions by means of logic gates, we have
discovered that more than one solution is usually available for the implementation
of agivenlogic expression. It should also be clear by now that some combinations
of gates can implement a given function more efficiently than others. How canwe
be assured of having chosen the most efficient realization? Fortunately, thereisa
procedure that utilizes amap describing all possible combinations of the variables
present in the logic function of interest. This map is called a Karnaugh map,
after itsinventor. Figure 13.29 depictsthe appearance of Karnaugh mapsfor two-,
three-, and four-variable expressions in two different forms. As can be seen, the
row and column assignments for two or more variables are arranged so that al
adjacent terms change by only one bit. For example, in the two-variable map,
the columns next to column 01 are columns 00 and 11. Also note that each map
consists of 2" cells, where N isthe number of logic variables.

Each cell in a Karnaugh map contains a minterm, that is, a product of
the N variables that appear in our logic expression (in either uncomplemented or
complemented form). For example, for the case of three variables (N = 3), there
X-Y-Z,X-Y-Z,X-Y-Z,and X -Y - Z. Thecontent of each cell—that is, the
minterm—is the product of the variables appearing at the corresponding vertical
and horizontal coordinates. For example, in the three-variable map, X - Y - Z
appearsat theintersection of X - Y and Z. Themap isfilled by placing avalue of 1
for any combination of variables for which the desired output isa 1. For example,
consider the function of three variables for which we desire to have an output of 1
whenever the variables X, Y, and Z have the following values:
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<I
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N=2
Y| XYy XY 1
XY X-Y XY XY XY 00 01 11 10
z
Z| XYz | XYz | XYz | XYz 0
N=3
z | XYz | Xyz | xyz | XYz 1
W-X W-X W-X W-X W-X 00 01 11 10
Y-Z
Y-Z |WXY-Z|W-XY-Z |WX-Y-Z |[W-X-Y-Z | 00
Y-Z |WXY-Z [WX-Y-Z |WeXY-Z [WeX-Yez | o1
N=4
Y-Z |WXY-Z [WX-Y-Z |WeXeY-Z [WeXeyez |1
Y-Z |W-X-Y-Z |W-X-Y-Z [WeX-Y-Z |WeX-Y-Z | 10

Figure 13.29 Two-, three-, and four-variable Karnaugh maps

X=0|Y=1|Z=0
X=0|Y=1|2Z=1
X=1|Y=1|2Z=0
X=1|Y=1|2Z=1

The same truth table is shown in Figure 13.30 together with the corresponding
Karnaugh map.

The Karnaugh map provides animmediate view of the values of thefunction
ingraphical form. Further, thearrangement of the cellsinthe Karnaugh mapissuch
that any two adjacent cells contain minterms that vary in only one variable. This
property, aswill be verified shortly, is quite useful in the design of logic functions
by means of logic gates, especially if we consider the map to be continuously
wrapping around itself, as if the top and bottom, and right and left, edges were
touching each other. For thethree-variablemap givenin Figure 13.29, for example,
thecell X -Y - Z isadjacentto X - Y - Z if we*“roll” the map so that the right edge
touchesthe left. Note that these two cells differ only inthe variable X, a property
we earlier claimed adjacent cells have.*

LA useful rule to remember is that in a two-variable map there are two minterms adjacent to any given
minterm; in a three-variable map, three minterms are adjacent to any given minterm; in a
four-variable map, the number is four, and so on.
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Z| O 1 1 0

Karnaugh map

Desired

X Y Z | Function

0 0 0 0

0 0 1 0

0 1 0 1

0 1 1 1

1 0 0 0

1 0 1 0

1 1 0 1

1 1 1 1

Truth table

Figure 13.30 Truth table
and Karnaugh map
representations of alogic
function
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2 cell subcubes

Figure 13.32 One- and

two-cell subcubes for the

Karnaugh map of Figure 13.31
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Yz| 0 0 0 0
yz| O 0 0 0
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eight-cell subcubes for an
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Figure 13.33 Four- and

arbitrary logic function
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Shown in Figure 13.31 is a more complex, four-variable logic function,
which will serve as an example in explaining how Karnaugh maps can be used
directly to implement a logic function. First, we define a subcube as a set of 2™
adjacent cellswith logical value 1, form = 1,2, 3, ..., N. Thus, asubcube can
consist of 1, 2, 4, 8, 16, 32,...cells. All possible subcubes for the four-variable
map of Figure 13.31 are shown in Figure 13.32. Note that there are no four-cell
subcubes in this particular case. Note aso that there is some overlap between
subcubes. Examples of four-cell and eight-cell subcubes are shown in Figure
13.33 for an arbitrary expression.

Desired
X Y Y z Function
0 0 0 0 1
0 0 0 1 1
0 0 1 0 0
0 0 1 1 0 _ _
0 1 0 0 0 WX WX WX WX
0 1 0 1 1 o
0 1 1 0 1 Y-Z 1 0 0 0
0 1 1 1 0
1 0 0 0 0 _
1 0 0 1 1 Y-Z 1 1 0 1
1 0 1 0 1
1 0 1 1 0
1] 1] 0] o0 0 Yz 0o 140
1 1 0 1 0
111 110 0 Yz o| 1| 0o | 1
1 1 1 1 1

Truth table for four-variable expression

Figure 13.31 Karnaugh map for a four-variable expression

In general, one tries to find the largest possible subcubes to cover al of the
“1" entriesin the map. How do maps and subcubes help in the realization of logic
functions, then? The use of maps and subcubes in minimizing logic expressions
is best explained by considering the following rule of Boolean algebra:

Y X+Y - X=Y
wherethevariable Y could represent aproduct of logic variables (for example, we

could similarly write (Z - W) - X+ (Z-W)-X = Z - W withY = Z - W). This
ruleis easily proven by factoring Y:

Y- (X+X)

and observing that X + X = 1, always. Then it should be clear that the variable X
need not appear in the expression at all. Let us apply this rule to a more complex
logic expression, to verify that it can also apply to this case. Consider the logic
expression

W-X-Y-Z+W-X-Y-Z4+W-X-Y-Z+W-X-Y-Z
and factor it as follows:
W-ZY X+X)+W-Y-Z- X+X)=W-Z-Y+W-Y-

VA
—Y-Z-W+W)=7-

V4
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Quite asimplification! If we consider, now amap in which we place a1 in the
cells corresponding to the minterms W-XY-ZW-X-Y-Z,W-X-Y-Z ad
W . X .Y - Z, forming the previous expressi on, we obtain the Karnaugh map of
Figure 13.34. It can easily be verified that the map of Figure 13.34 showsasingle
four-cell subcube corresponding to theterm Y - Z.

We have not established formal rules yet, but it definitely appears that the
map method for simplifying Boolean expressions is a convenient tool. In effect,
the map has performed the algebraic simplification automatically! We can see
that in any subcube, one or more of the variables present will appear in both
complemented and uncomplemented form in all their combinations with the other
variables. These variables can be eliminated. As an illustration, in the eight-cell
subcube case of Figure 13.35, the full-blown expression would be;

W-X-Y-Z+W-X-Y-Z+W-X-Y-Z+W-X-Y-Z
+W-X-Y-Z+W-X-Y-Z+W-X-Y-Z4+W-X-Y-Z

However, if we consider the eight-cell subcube, we note that the three variables
X, W, and Z appear both in complemented and uncomplemented form in all
their combinations with the other variables and thus can be removed from the
expression. This reduces the seemingly unwieldy expression simply to Y! In
logic design terms, a simple inverter is sufficient to implement the expression.

The example just shown is a particularly simple one, but it illustrates how
simpleit can beto determine the minimal expression for alogic function. It should
be apparent that the larger a subcube, the greater the simplification that will result.
For subcubes that do not intersect, asin the previous example, the solution can be
found easily, and is unique.

Sum-of-Products Realizations

Although not explicitly stated, thelogic functions of the preceding section were all
insum-of-productsform. Asyou know, itisalso possibleto realizelogic functions
in product-of-sumsform. This section discussestheimplementation of logic func-
tionsin sum-of-productsform and givesaset of design rules. The next section will
do the same for product-of-sums form logical expressions. The following rules
are auseful aid in determining the minimal sum-of-products expression:

FOCUSONMETHODOLOGY
Sum-of-Products Realizations
1. Begin withisolated cells. These must be used as they are, since no
simplification is possible.
2. Find al cellsthat are adjacent to only one other cell, forming two-cell
subcubes.
3. Find cellsthat form four-cell subcubes, eight-cell subcubes, and so
forth.
4. Theminimal expression isformed by the collection of the smallest
number of maximal subcubes.

623

Figure 13.34 Karnaugh
map for the function
W X Y Z+W-

Figure 13.35
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The following examples illustrate the application of these principles to a variety
of problems.
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PRPRRPPRPOOOORRRPRPRPOOOO| I
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Figure 13.36
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EXAMPLE 13.9 Logic Circuit Design Using Karnaugh Maps

Problem

Design alogic circuit that implements the truth table of Figure 13.36.

Solution

Known Quantities: Truthtablefor y(A, B, C, D).

Find: Realization of y.

Assumptions: Two-, three-, and four-input gates are available.

Analysis: We use the Karnaugh map of Figure 13.37, which is shown with values of 1
and 0 aready in place. We recognize four subcubes in the map; three are four-cell
subcubes, and one is atwo-cell subcube. The expressions for the subcubesare: A - B - D
for the two-cell subcube; B - C for the subcube that wraps around the map; C - D for the
four-by-one subcube; and A - D for the square subcube at the bottom of the map. Thus,
the expression for y is:

y=A-B-D+B-C+CD+ AD.
cD

AB o0 o1| 11 10 A

ol D{(1)| o |[@ | B-IL|>°—|[ |

11 0 1 l| 0 D [ [:
10/ 1 1 J 0
[+ [\ . .
1 1 Figure 13.38 Logic circuit
realization of Karnaugh map of
Figure 13.37 Karnaugh map for Figure 13.37
Example 13.9

The implementation of the above function with logic gatesis shown in Figure 13.38.

Comments: The Karnaugh map covering of Figure 13.37 is a sum-of-products
expression because we covered the map using the ones.

EXAMPLE 13.10 Deriving a Sum-of-Products Expression
from a Logic Circuit

Problem

Derive the truth table and minimum sum-of-products expression for the circuit of Figure
13.39.
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Solution

Known Quantities: Logic circuit representing f (x, y, z).

Analysis: To determine the truth table, we write the expression corresponding to the
logic circuit of Figure 13.39:

o,
Find: Expression for f and corresponding truth table. y [E i
V4

f=x3+yz Figure 13.39
The truth table corresponding to this expression and the corresponding Karnaugh map
with sum-of-products covering are shown in Figure 13.40.

PRPRPOOOO]| X
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o
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o

Figure 13.40

Comments: |If weused zerosin covering the Karnaugh map for this example, theresulting
expression would be a product-of-sums. You may verify that, in the case of this example,

thecomplexity of thecircuit would beunchanged. Notealso that there existsathird subcube
(x =0, yz = 01, 11) that is not used because it does not help minimize the solution. VIRTUAL LAB

EXAMPLE 13.11 Realizing a Product-of-Sums Using Only
NAND Gates

Problem

Realize the following function in sum-of-products form, using only two-input NAND
gates.

=G+ -0+3)

Solution
Known quantities: f(x, y, z).
Find: Logic circuit for f using only NAND gates.

Analysis: Thefirst step isto convert the expression for f into an expression that can be
easily implemented with NAND gates. We observe that direct application of De Morgan’s

theorem yields:
X+y=x-y
y+z=z-y

Thus, we can write the function as follows:
f=@»m-(z-5)
and implement it with five NAND gates, as shown in Figure 13.41
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X
a L}{}f
—
Figure 13.41
Comments: Note that we used two NAND gates as inverters—one to obtain y, the other
to invert the output of the fourth NAND gate, equal to (x - y) - (z -y).
EXAMPLE 13.12 Simplifying Expressions by Using Karnaugh
Maps
Problem
Simplify the following expression by using a Karnaugh map.
f=x-y+x-z+y-z
Solution
v %2 Known Quantities: f(x, y, z).
x 00 01 11 10 Find: Minimal expression for f.
,
of o |(2 1| o Analysis: We cover athree-term Karnaugh map to reflect the expression give above. The
result is shown in Figure 13.42. It is clear that the Karnaugh map can be covered by using
1] o o | (2 1) just two terms (subcubes): f = x - y + X - z. Thus, theterm y - z is redundant.
A

K map

Figure 13.42

Comments: The Karnaugh map covering clearly showsthat the term y - z corresponds to
covering athird two-cell subcube vertically intersecting the two horizontal two-cell
subcubes already shown. Clearly, the third subcube is redundant.

Figure 13.43

EXAMPLE 13.13 Simplifying a Logic Circuit by Using
the Karnaugh Map

Problem

Derive the Karnaugh map corresponding to the circuit of Figure 13.43 and use the
resulting map to simplify the expression.

Solution
Known Quantities: Logic circuit.

Find: Simplified logic circuit.
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Analysis: Wefirst determine the expression f(x, y, z) from thelogic circuit:
f=x-+G&-D+ (-2

This expression |eads to the Karnaugh map shown in Figure 13.44. Inspection of the
Karnaugh map reveals that the map could have been covered more efficiently by using
four-cell subcubes. The improved map covering, corresponding to the smpler function
f = x +z, and theresulting logic circuit are shown in Figure 13.45.

¥NO 00 01 11 10 X
JJ@ oo |@ me
JWla |

f=yz+ xz+yz X 00 01 11 10

Figure 13.44

K map

Figure 13.45

Comments: Ingeneral, one wishes to cover the largest possible subcubes in a Karnaugh
map.
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Product-of-Sums Realizations

Thus far, we have exclusively worked with sum-of-products expressions, that is,
logic functions of theform A - B 4+ C - D. We know, however, that De Morgan's
laws state that there is an equivalent form that appears as a product of sums, for
example, (W +Y) - (Y + Z). Thetwo forms are completely equivalent, logicaly,
but one of the two forms may lead to a realization involving a smaller number of
gates. When using Karnaugh maps, we may obtain the product-of-sumsform very
simply by following these rules:

FOCUSONMETHODOLOGY
Product-of-Sums Realizations

1. Solvefor the Os exactly as for the 1sin sum-of-products expressions.
2. Complement the resulting expression.

The same principles stated earlier apply in covering the map with subcubes and
determining the minimal expression. The following examples illustrate how one
form may result in a more efficient solution than the other.
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EXAMPLE 13.14 Comparison of Sum-of-Products
and Product-of-Sums Designs

Problem

Redlize the function f described by the accompanying truth table using both 0 and 1

x oy z|f coverings in the Karnaugh map.

0O 0O O0)|O

0 0 1|1 _

o 1 ol1 Solution

0 1 11 Known Quantities: Truth table for logic function.

1 0 0]1 T

10 101 Find: Realization in both sum-of-products and product-of-sums forms.

1 1 0|0 Analysis:

11 1)0 1. Product-of-sums expression. Product-of-sums expressions use zeros to determine the

logical expression from a Karnaugh map. Figure 13.46 depicts the Karnaugh map
covering with zeros, leading to the expression

f=+y+2-G+Y)

vz X+y+2z ;. %y
01 11 10 y-z

z
00
@j X 00 \ o1 11/10
0 1 1 1 14
B
1
1

X

o] O
1{(1 l 0 0

Xy

x|
+
<l

Figure 13.46
Figure 13.47

2. Sum-of-products expression. Sum-of-products expressions use ones to determine the
logical expression from a Karnaugh map. Figure 13.47 depicts the Karnaugh map
covering with ones, leading to the expression

f=G-N+E-N+0-2

Comments: The product-of-sums solution requires the use of five gates (two OR, two
NQT, and one AND), while the sum-of-products solution will use six gates (one OR, two
NQOT, and three AND). Thus, solution 1 leads to the simpler design.

EXAMPLE 13.15 Product-of-Sums Design

Problem

Realize the function f described by the accompanying truth table in minimal product of
sums form.
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=
<

Solution
Known Quantities: Truth table for logic function.
Find: Realization in minimal product-of-sums forms.

Analysis: We cover the Karnaugh map of Figure 13.48 using zeros, and obtain the
following function:

f=z-&x+y

P B P P OO O O
P B O O Fr PFLr OO

y-z

01(0_01
Lo

4

I
+
<l

Figure 13.48

Comments: |sthe sum-of-products solution simpler? Try it for yourself.

&
<~

P O P O FLr O Fr O
OO O O r O Fr O P
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Safety Circuit for Operation of a Stamping Press

In this example, the techniquesillustrated in the preceding examples will be
applied to a practical situation. To operate a stamping press, an operator
must press two buttons (b1, and b,) one meter apart from each other and
away from the press (this ensures that the operator’s hands cannot be caught
in the press). When the buttons are pressed, the logical variables b; and b,
areequal to 1. Thus, we can define anew variable A = by - by; when A = 1,
the operator’s hands are safely away from the press. In addition to the safety
requirement, however, other conditions must be satisfied before the operator
can activate the press. The pressis designed to operate on one of two
workpieces, part | and part I1, but not both. Thus, acceptable logic states for
the press to be operated are “part | isin the press, but not part 11" and “part 11 !
isin the press, but not part | If we denote the presence of part | in the press | ™= 2
by the logical variable B = 1 and the presence of part Il by thelogical ﬂ
variable C = 1, we can then impose additional requirements on the
operation of the press. For example, arobot used to place either part in the
press could activate apair of switches (corresponding to logical variables B
and C) indicating which part, if any, isin the press. Finally, in order for the
press to be operable, it must be “ready,” meaning that it hasto have
completed any previous stamping operation. Let thelogical variable D = 1
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represent the ready condition. We have now represented the operation of the
pressin terms of four logical variables, summarized in the truth table of
Table 13.12. Note that only two combinations of the logical variables will
result in operation of thepress: ABCD = 1011 and ABCD = 1101. You
should verify that these two conditions correspond to the desired operation
of the press. Using a Karnaugh map, realize the logic circuitry required to
implement the truth table shown.

Table 13.12 Conditions for operation of stamping press

(B) © (D) Press operation
(A) Partlis | Partllis | Pressis 1=pressing;
by-by | inpress | inpress | operable | 0=not pressing
0 0 0 0 0
0 0 0 1 0
0 0 1 0 0
0 0 1 1 0
0 1 0 0 0
0 1 0 1 0
0 1 1 0 0
0 1 1 1 0
1 0 0 0 0
1 0 0 1 0
1 0 1 0 0
1 0 1 1 1
1 1 0 0 0
1 1 0 1 1
1 1 1 0 0
1 1 1 1 0

4 Both buttons (b1, by) must be pressed for thisto bea 1.

Solution:

Table 13.12 can be converted to a Karnaugh map, as shown in Figure 13.49.
Since there are many more 0s than 1sin the table, the use of Osin covering
the map will lead to greater simplification. Thiswill resultin a
product-of-sums expression. The four subcubes shown in Figure 13.49 yield
the equation

A-D-(C+B)-(C+B)
By De Morgan’s law, this equation is equivalent to
A-D-(C+B)-(C-B)

which can be realized by the circuit of Figure 13.50.
For the purpose of comparison, the corresponding sum-of- s
products circuit is shown in Figure 13.51. Note that thiscircuit [
employs a greater number of gates and will thereforeleadtoa  pyitisim

more expensive design.

Focus on Computer-Aided Solutions— An Electronics Workbench™
simulation of the logic circuit of Figure 13.50 may be found in the
accompanying CD-ROM.
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Figure 13.49

Figure 13.51
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Figure 13.50

Don’t Care Conditions

Another simplification technique may be employed whenever the value of thelogic
function to be implemented can be either a1 or a 0. This condition may result
from the specification of the problem and is not uncommon. Whenever it does
not matter whether apositionin the map isfilled by a1 or a0, we use a so-called
don’t care entry, denoted by an x. Then the don’t care can be used as either a1 or
a 0, depending on which resultsin a greater simplification (i.e., helpsin forming
the smallest number of maximal subcubes). The following examplesillustrate the
use of don't cares.

631

EXAMPLE 13.16 Using Don’t Cares to Simplify

Problem

Use don’t care entries to simplify the expression:

f@,bc,dy=a-b-c-d+a-b-c-d+a-b-c-d+a-b-c-d+a-b-c-d+a-b-c-d

Expressions—1
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Note that the X’ s never occur, and
so they may be assignedal or a0,
whichever will best simplify the
expression.

bed b-c
cd
ab\_ 00 01 | 11\ \ 10

[y

ooom

01| x U 0
4

10| O 0 1

Al
1
N —

X

1 1 0 0 X

X
_ I
a-cd

Figure 13.52
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Solution
Known Quantities: Logical expression; don't care conditions.
Find: Minimal realization.

Schematics, Diagrams, Circuits, and Given Data: Don’t care conditions:
f(a,b,c,d) = {0100, 0110, 1010, 1110}.

Analysis: We cover the Karnaugh map of Figure 13.52 using ones, and also using x
entries for each don’t care condition. Treating all of the x entries as ones, we compl ete the
covering with two four-cell subcubes and one two-cell subcube, to obtain the following
simplified expression:

fla,b,c,d) =b-d+b-c+a-c-d
Comments: Note that we could have also interpreted the don’t care entries as zeros and

tried to solve in product-of-sums form. Verify that the expression obtained above is
indeed the minimal one.

00 01 11 10

Figure 13.53

EXAMPLE 13.17 Using Don’t Cares to Simplify
Expressions—2

Problem

Find a minimum product-of-sums realization for the expression f(a, b, c).

Solution
Known Quantities: Logical expression, don’t care conditions.
Find: Minimal realization.
Schematics, Diagrams, Circuits, and Given Data:
f(a,b,c) = 1for{a, b, c} = {000, 010, 011}
f(a, b, c) =don't carefor {a, b, ¢} = {100, 101, 110}

Analysis: We cover the Karnaugh map of Figure 13.53 using ones, and also using x
entries for each don’t care condition. By appropriately selecting two of the three
don’t-care entries to be equal to 1, we complete the covering with one four-cell subcube
and one two-cell subcube, to obtain the following minimal expression:

fla,b,c)=a-b+c

Comments: Note that we have chosen to set one of the don’t care entries equal to zero,
since it would not lead to any further simplification.

EXAMPLE 13.18 Using Don’t Cares to Simplify
Expressions—3

Problem

Find a minimum sum-of-products realization for the expression f (a, b, c, d).
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Solution
Known Quantities: Logical expression; don’t care conditions.
Find: Minimal realization.
Schematics, Diagrams, Circuits, and Given Data
f(a,b,c,d)=1for{a, b, c,d} = {0000, 0011, 0110, 0101}
fla,b,c,d) = don't carefor {a, b, ¢, d} = {1010, 1011, 1101, 1110, 1111}

Analysis: We cover the Karnaugh map of Figure 13.54 using ones, and also using x
entries for each don’t care condition. By appropriately selecting three of the four don’t
care entries to be equal to 1, we complete the covering with one four-cell subcube, two
two-cell subcubes, and one one-cell subcube, to obtain the following expression:

fla,b,cy=a-b-c-d+b-c-d+a-d+b-c-d

Comments: Would the product-of-sums realization be simpler? Verify.
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Check Your Understanding
13.15 Simplify thefollowing expression to show that it correspondsto the function Z:
W-X-Y-Z+W-X-Y-Z+W-X-Y-Z+W-X-Y-Z4+W-X-Y-Z
+W-X-Y-Z+W-X-Y-Z+W-X-Y-Z
13.16 Simplify the following expression, using a Karnaugh map:
W-XY-Z+W-X-Y-Z+W-X-Y-Z+W-X-Y-Z+W-X-Y-Z
+W-X-Y-Z
13.17 Simplify the following expression, using a Karnaugh map:
W-X-Y-Z+W-X-Y-Z4+W-X-Y-Z+W-X-Y-Z
+W-X-Y-Z4+W-X-Y-Z
13.18 The function y of Example 13.9 can be obtained with fewer gates if we use

gates with three or four inputs. Find the minimum number of gates needed to obtain this
function.

13.19 Verify that the product-of-sums expression for Example 13.14 can be realized
with fewer gates.

13.20 Would asum-of-products realization for Example 13.15 require fewer gates?

13.21 Prove that the circuit of Figure 13.51 can also be obtained from the sum of
products.

13.22 In Example 13.16, assign a value of 0 to the don’t care terms and derive the
corresponding minimal expression. |s the new function simpler than the one obtained in
Example 13.16?

13.23 In Example 13.17, assign a vaue of 0 to the don’t care terms and derive the
corresponding minimal expression. |s the new function simpler than the one obtained in
Example 13.17?

13.24 In Example 13.17, assign a value of 1 to all don't care terms and derive the
corresponding minimal expression. |s the new function simpler than the one obtained in
Example 13.17?
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13.25 In Example 13.18, assign a value of 0 to all don't care terms and derive the
corresponding minimal expression. |s the new function simpler than the one obtained in
Example 13.18?

13.26 In Example 13.18, assign a value of 1 to all don't care terms and derive the
corresponding minimal expression. |s the new function simpler than the one obtained in
Example 13.18?

13.5 COMBINATIONAL LOGIC MODULES

Thebasic |ogic gates described in the previous section are used to implement more
advanced functions and are often combined to form logic modules, which, thanks
to modern technology, are available in compact integrated circuit (IC) packages.
In this section and the next, we discuss afew of the more common combinational
logic modules, illustrating how these can be used to implement advanced logic
functions.

Multiplexers

Multiplexers, or data selectors, are combinational logic circuits that permit the
selection of one of many inputs. A typical multiplexer (MUX) has 2" data lines,
n address (or data select) lines, and one output. In addition, other control inputs
(e.g., enables) may exist. Standard, commercially available MUXs allow for n up
to4; however, two or more M UX scanbecombined if agreater rangeisneeded. The
MUX alowsfor one of 2" inputsto be selected as the data output; the selection of
which input is to appear at the output is made by way of the addresslines. Figure
13.55 depicts the block diagram of a four-input MUX. The input data lines are
labeled Dg, D1, D>, and D3; the data select, or address, lines are labeled Iy and
I;; and the output is available in both complemented and uncomplemented form,
and isthuslabeled F, or F. Finally, an enableinput, labeled E, is also provided,
as ameans of enabling or disabling the MUX: if E = 1, the MUX is disabled;
if E =0, itisenabled. The negative logic (MUX off when E = 1 and on when
E = Q) isrepresented by thesmall “bubble’ at the enableinput, which representsa
complement operation (just asat the output of NAND and NOR gates). Theenable
input is useful whenever oneisinterested in a cascade of MUXSs; thiswould be of
interest if we needed to select aline from alarge number, say 22 = 256. Thentwo
4-input MUXs could be used to provide the data selection of 1 of 8.

The material described in the previous sectionsis quite adequate to describe
theinternal workingsof amultiplexer. Figure 13.56 showstheinternal construction
of a4-to-1 MUX using exclusively NAND gates (inverters are also used, but the
reader will recall that a NAND gate can act as an inverter if properly connected).

Inthe design of digital systems (for example, microcomputers), asingleline
is often required to carry two or more different digital signals. However, only
one signal at atime can be placed on the line. A MUX will alow usto select, at
different instants, the signal we wish to place on thissingle line. This property is
shown here for a 4-to-1 MUX. Figure 13.57 depicts the functional diagram of a
4-to-1 MUX, showing four datalines, Dy through D3, and two select lines, Iy and
1.

The data selector function of a MUX is best understood in terms of Table
13.13. Inthistruth table, the x’s represent don't care entries. Ascan be seen from
the truth table, the output selects one of the data lines depending on the values of
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Figure 13.56 Interna structure of the 4-to-1 MUX
Table 13.13
l1 | lo | D3 | D2 | D1 | Do | F
0 0 X X X 0 0
0 0 X X X 1 1
0 1 X X 0 X 0
0 1 X X 1 X 1
1 0 X 0 X X 0
1 0 X 1 X X 1
1 1 0 X X X 0
1 1 1 X X X 1

I and Iy, assuming that Iy is the least significant bit. Asan example, 111, = 10
selects Dy, which means that the output, F', will select the value of the data line
D,. Therefore F = 1if Do=1and F =0if D, = 0.

Read-Only Memory (ROM)

Another common technique for implementing logic functions uses a read-only
memory, or ROM. As the name implies, a ROM is a logic circuit that holds in
storage (“memory”) information—in the form of binary nhumbers—that cannot be
altered but can be “read” by alogic circuit. A ROM is an array of memory cells,
each of which can store either al or a0. Thearray consistsof 2” x n cells, where
n is the number of bits in each word stored in ROM. To access the information
stored in ROM, m address lines are required. When an address is selected, in a
fashion similar to the operation of the MUX, the binary word corresponding to the
address selected appears at the output, which consists of » bits, that is, the same
number of bits as the stored words. In some sense, a ROM can be thought of as a
MUX that has an output consisting of aword instead of a single bit.

Figure 13.58 depicts the conceptua arrangement of a ROM with n = 4 and
m = 2. The ROM table has been filled with arbitrary 4-bit words, just for the
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Data P2
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Select lines

Figure 13.57 Functiona
diagram of four-input MUX

ROM
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(4-bit words)
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0 0
1 1
0 0 |W,
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|
1/‘ 2x 4
ROM

W, = output word

Enable

Figure 13.58 Read-only
memory
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purpose of illustration. In Figure 13.58, if one were to select an enableinput of O
(i.e., on) and values for the address lines of I, = 0 and I; = 1, the output word
would be W, = 0110, sothat bg = 0, b1 = 1, b, = 1, b3 = 0. Depending on
the content of the ROM and the number of address and output lines, one could
implement an arbitrary logic function.

Unfortunately, the data stored in read-only memories must be entered during
fabrication and cannot be altered later. A much more convenient type of read-
only memory is the erasable programmable read-only memory (EPROM),
the content of which can be easily programmed and stored and may be changed
if needed. EPROMSs find use in many practical applications, because of their
flexibility in content and ease of programming. The following exampleillustrates
the use of an EPROM to perform the linearization of a nonlinear function.

EPROM-Based Lookup Table for Automotive Fuel Injection
System Control

One of the most common applications of EPROMSs is the arithmetic |ookup
table. A lookup tableissimilar in concept to the familiar multiplication
table and is used to store precomputed values of certain functions,
eliminating the need for actually computing the function. A practical
application of this concept is present in every automobile manufactured in
the United States since the early 1980s, as part of the exhaust FIND IT
emission control system. In order for the catalytic converter to
minimize the emissions of exhaust gases (especially hydrocar-
bons, oxides of nitrogen, and carbon monoxide), it isnecessary  ENRGENEE
to maintain the air-to-fuel ratio (A/F) as close as possible to the stoichio-
metric value, that is, 14.7 parts of air for each part of fuel. Most modern
engines are equipped with fuel injection systems that are capable of
delivering accurate amounts of fuel to each individual cylinder—thus, the
task of maintaining an accurate A/F amounts to measuring the mass of air
that is aspirated into each cylinder and computing the corresponding mass of
fuel. Many automobiles are equipped with a mass airflow sensor, capable of
measuring the mass of air drawn into each cylinder during each engine
cycle. Let the output of the mass airflow sensor be denoted by the variable
M 4, and let this variable represent the mass of air (in g) actually entering a
cylinder during a particular stroke. It isthen desired to compute the mass of
fuel, M (also expressed in g), required to achieve and A/F of 14.7. This
computation is simply:

My
147

Although the above computation is a simple division, its actual

calculation in alow-cost digital computer (such as would be used on an
automobile) is rather complicated. It would be much simpler to tabulate a
number of values of M ,, to precompute the variable M, and then to store
the result of this computation into an EPROM. If the EPROM address were
made to correspond to the tabulated values of air mass, and the content at
each address to the corresponding fuel mass (according to the precomputed
values of the expression My = M 4/14.7), it would not be necessary to
perform the division by 14.7. For each measurement of air massinto one

F
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cylinder, an EPROM addressis specified and the corresponding content is
read. The content at the specific address is the mass of fuel required by that
particular cylinder.

In practice, the fuel mass needs to be converted into atime interval
corresponding to the duration of time during which the fuel injector is open.
Thisfinal conversion factor can also be accounted for in the table. Suppose,
for example, that the fuel injector is capable of injecting K g of fuel per
second; then the time duration, T, during which the injector should be open
in order to inject My g of fuel into the cylinder is given by:

Mp
Tp = —S
F Kr
Therefore, the complete expression to be precomputed and stored in the
EPROM is:
My
Tr=————5
P 147 x Ky

Figure 13.59 illustrates this process graphically.

Digital valueof Mp  Digita value of Tg
(EPROM address) (EPROM content)

Analog-to-digital

converter % % . Fuel TF
A/D = EPROM = injection Fuel
Ma = F— system injector
pulse width
Airin —~—— Fuel
[ ]| injector
Mass air
flow sensor

Figure 13.59 Use of EPROM lookup table in automotive fuel
injection system

To provide anumerical illustration, consider a hypothetical engine
capable of aspirating air in therange 0 < M, < 0.51 g and equipped with
fuel injectors capable of injecting at the rate of 1.36 g/s. Thus, the
relationship between Tr and M, is:

Tr =50 x M, ms=0.05M, s

If the digital value of M, is expressed in dg (decigrams, or
tenths of g), the lookup table of Figure 13.60 can be imple-
mented, illustrating the conversion capabilities provided by the
EPROM. Note that in order to represent the quantities of interest in an
appropriate binary format compatible with the 8-bit EPROM, the units of air
mass and of time have been scaled.
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Address (digital  Content (digital
M (9) X 102 valueof M) value of Tg) Te(ms) x 1071

00000000 00000000 0
00000001 00000101 5
00000010 00001010 10
00000011 00001111 15
00000100 00010100 20
00000101 00011001 25

A WNERO

51 00110011 11111111 255

Figure 13.60 Lookup table for automotive fuel injection
application
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Figure 13.61 2-to-4
decoder
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Decoders and Read and Write Memory

Decoders, which are commonly used for applications such as address decoding
or memory expansion, are combinational logic circuits as well. Our reason for
introducing decodersisto show some of theinternal organization of semiconductor
memory devices. An important application of decoders in the organization of a
memory system is discussed in Chapter 14.

Figure 13.61 shows the truth table for a 2-to-4 decoder. The decoder has an
enable input, G, and select inputs, B and A. It also has four outputs, Y, through
Y3. When the enable input is logic 1, al decoder outputs are forced to logic 1
regardless of the select inputs.

This simple description of decoders permitsabrief discussion of theinternal
organization of an SRAM (static random-access or read and write memory).
SRAM is internally organized to provide memory with high speed (i.e., short
accesstime), alarge bit capacity, and low cost. The memory array in this memory
device has a column length equal to the number of words, W, and a row length
equal to the number of bits per word, N. To select aword, an n-to-W decoder is
needed. Since the address inputs to the decoder select only one of the decoder’s
outputs, the decoder selects one word in the memory array. Figure 13.62 shows
the internal organization of atypica SRAM.

.| ntow
n address| decoder [y = on
inputs

Memory array

Figure 13.62 Internal organization of SRAM



Part 11 Electronics

Thus, to choose the desired word from the memory array, the proper address
inputs are required. As an example, if the number of words in the memory array
is 8, a 3-t0-8 decoder is needed. Data sheets for 2-to-4 and 3-to-8 decoders from
a CMOS family data book are provided in the accompanying CD-ROM.

Check Your Understanding

13.27 Which combination of the control lineswill select the dataline D5 for a4-to-1
MUX?

13.28 Show that an 8-to-1 MUX with eight data inputs (Dg through D7) and three
control lines (1o through I,) can be used as a data selector. Which combination of the
control lines will select the dataline Ds?

13.29 Which combination of the control lineswill select the dataline D, for an 8-to-1
MUX?

13.30 How many address inputs do you need if the number of words in a memory
array is 16?

CONCLUSION

+ Digital logic circuits are at the basis of digital computers. Such circuits operate
strictly on binary signals according to the laws of Boolean algebra.

+ Combinational logic circuits can implement arbitrary Boolean logic functions.

+ Combinational logic circuitsinclude all of the logic gates—AND, OR, NAND,
NOT, and XOR—as well as |ogic modules such as multiplexers and read-only
memory.

CHECK YOUR UNDERSTANDING ANSWERS
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CYU13.1 (a) 100111; (b) 111011; (c) 100000000; (d) 0.011100; (€) 0.11001; (f) 0.110011; (g) 100000000.11; (h)

10000001.1001; (i) 1000000000000.11101

CYU 132 (a) 13; (b) 27; (c) 23; (d) 0.6875; (€) 0.203125; (f) 0.2128906 0.2128906255; (g) 59.6875; (h) 91.203125;

(i) 22.340820312

CYU 133 (8) 20.7510; (b) 7410; (C) 1.510; (d) 2110; (€) 200000,; (f) 1000000,; (g) 110010.11,; (h) 100011.11111,

CyU 134 4,096
CYU 135 39 mVvV

CYU 1356 (a) 111110000011; (b) 00111001001; (c) 10100110; (d) 1AE; (€) BY; (f) 6ED

CYU 137 (a) 00010111; (b) 01101001; (c) 0100010

CYU 138 (a) 0000 1011 1101; (b) 1101 0100 0111; (c) 0101 1010
CYU 13.16 W-Z+X-Z

CYU 1317 Y- Z+X-Z

CYU 13.18 Nine gates

CYU 13.20 No

CYU 13.22
CYU 13.23
CYU 13.24
CYU 13.25
CYU 13.26

Il
Q] 8 o

a-b-c-d+a-b-c-d+a-b-c-d
b-c-d+a-d+b-c-d+a-c

Il
Q|

S S S
I

Il
Y
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CYU 13.27 LI, =11
CYU 13.28
MUX. For the second part, I,1; Io = 101.
CYU 13.29 L1 I = 100
CYU 13.30 4

Digital Logic Circuits

For the first part, use the same method as in Check Your Understanding Exercise 13.27, but for an 8-to-1

HOMEWORK PROBLEMS

Section 1: Number Systems

13.1 Convert the following base 10 numbers to hex and
binary:
a40l b.273 c.15 d. 38 eb56

13.2 Convert the following hex numbers to base 10 and
binary:
aA b66 c47 d21 el3

13.3 Convert the following base 10 numbers to binary:
a 27125 b.53.375 c¢.37.32 d. 5427

13.4 Convert the following binary numbersto hex and
base 10:
a 1111 b. 1001101 c¢.1100101 d. 1011100
e 11101 f. 101000

13.5 Perform the following additions all in the binary
system:
a 11001011+ 101111
b. 10011001 + 1111011
c. 11101001 + 10011011

13.6 Perform the following subtractions all in the binary
system:
a 10001011 — 1101111
b. 10101001 — 111011
c. 11000011 — 10111011

13.7 Assuming that the most significant bit is the sign
bit, find the decimal value of the following
sign-magnitude form eight-bit binary numbers:

a 11111000 b. 10011111 c. 01111001

13.8 Find the sign-magnitude form binary
representation of the following decimal numbers:
a 126 b —126 c.108 d.—98

13.9 Find the two’'s complement of the following binary
numbers:

a 1111 b. 1001101 c.1011100 d.11101

Section 2: Combinational Logic

13.10 Useatruthtableto provethat B = AB + AB.

13.11 Usetruth tablesto prove that
BC+BC+BA=A+B.

13.12 Using the method of proof by perfect induction,
show that

X+Y) - X+X-V)=Y
13.13 Using De Morgan's theorems and the rules of
Boolean algebra, smplify the following logic function:
FX,Y,2)=X-Y-Z+X- Y- Z+X- (Y +2)
13.14 Simplify the expression
f(A,B,C,D)=ABC + ACD + BCD.

13.15 Simplify thelogic function
F(A,B,C)=A-B-C+A-B-C+A-B-C+A-B-C
using Boolean algebra.

13.16 Find the logic function defined by the truth table
given in Figure P13.16.

PRrRRROOOO|X
PRPOORPFRPROO|
RPORrORORO|O
PRrRRPRPRPRORO|IT

Figure P13.16

13.17 Determine the Boolean function describing the
operation of the circuit shown in Figure P13.17.

[
L >—
o

Figure P13.17




13.18 Useatruth table to show when the output of the

circuit of Figure P13.18is1.

X3 X2 X1

Output

Y [¥¥

Figure P13.18

13.19 Baseball isacomplicated game and often the

manager has a difficult time keeping track of all the
rules of thumb that guide decisions. To assist your
favorite baseball team you have been asked to design a
logic circuit that will flash alight when the manager
should give the steal sign. The rules have been laid out
for you by abaseball fan with limited knowledge of the
game asfollows. Givethe steal signif thereisarunner
on first base and

a. There are no other runners, the pitcher is
right-handed, and the runner is fast, or

b. Thereisone other runner on third-base, and one of
the runnersisfast, or

c. Thereisone other runner on second-base, the
pitcher isleft-handed, and both runners are fast.

Under no circumstances should the steal sign be given
if all three bases have runners. Design alogic circuit
that implements these rules to indicate when the steal
sign should be given.

13.20 A small county board is composed of three

commissioners. Each commissioner votes on measures
presented to the board by pressing a button indicating
whether the commissioner votes for or against a
measure. If two or more commissioners vote for a
measure it passes. Design alogic circuit that takes the
three votes as inputs and lights either agreen or red
light to indicate whether or not a measure passed.

13.21 A water purification plant uses one tank for

chemical sterilization and a second larger tank for
settling and aeration. Each tank is equipped with two

Part 11 Electronics 641

ignition key isturned and either adoor is open or a seat
belt is not fastened. The buzzer a so sounds when the
key is not turned but the lights are on. In addition, the
car will not start unless the key isin theignition, the
car isin park, and al doors are closed and seat belts
fastened. Design alogic circuit that takes al of the
inputs listed and sounds the buzzer and starts the car
when appropriate.

13.23 An on/off start-up signal governs the compressor

motor of alarge commercial air conditioning unit. In
general, the start-up signal should be on whenever the
output of atemperature sensor (S) exceeds a reference
temperature. However, you are asked to limit the
compressor start-ups to certain hours of the day and

a so enable service technicians to start up or shut down
the compressor through a manual override. A
time-of-day indicator (D) is available with on/off
outputs asis amanual override switch (M). A separate
timer (T') prohibits a compressor start-up within 10
minutes of a previous shutdown. Design alogic
diagram that incorporates the state of all four devices
(S, D, M, and T") and produces the correct on/off
condition for the motor start-up.

Section 3: Logic Design

13.24 Find thelogic function corresponding to the truth

table of Figure P13.24 in the simplest sum-of-products
form.

PRrRRRLROOOO|>
PrRPOORPFrROO|T
RPrORrRORORrRO|O
PRPROFRPROOCOR|T

Figure P13.24

13.25 Find the minimum expression for the output of

thelogic circuit shown in Figure P13.25.

sensors that measure the height of water in each tank A

and the flow rate of water into each tank. When the B

height of water or flow rate is too high the sensors C D—L

produce alogic high output. Design alogic circuit that

sounds an alarm whenever the height of water in both b } FAB.CD)

tanksistoo high and either of the flow ratesistoo high,
or whenever both flow rates are too high and the height
of water in either tank is also too high.

Figure P13.25

13.22 Many automobiles incorporate logic circuitsto
aert the driver of problems or potential problems. In
one particular car, abuzzer is sounded whenever the

13.26 UseaKarnaugh map to minimize the function
f(A,B,C)=ABC + ABC + ABC.
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13.27 Input Output

a. Build the Karnaugh map for the logic function A B C F
defined by the truth table of Figure P13.27. olol o 0

b. What is the minimum expression for this function? oo} 1 0

c. Redlize F using AND, OR, and NOT gates. R 9

1 0 0 0

1 0 1 0

1 1 0 1

1 1 1 X

Figure P13.30

13.31 Design alogic circuit which will produce the
one's complement of an 8-bit signed binary number.

13.32 Construct the Karnaugh map for the logic
function defined by the truth table of Figure P13.32,
and find the minimum expression for the function.

PRPRPRPRPPRPPOOOOOOOO|>
PFRRPPRPOOOORRRLRROOOO|D
PRPOORROORROORROO|ODO
rOrRORORORORrRORORO|OD
COO0CORRRRERPRLRRPOOORRRE|T

A B C D F
0 0 0 0 1
0 0 0 1 0
0 0 1 0 1
0 0 1 1 0
Figure P13.27 0 1 0 0 0
0 1 0 1 0
0 1 1 0 0
0 1 1 1 1
13.28 Fill in the Karnaugh map for the function defined 10 0 O 1
by the truth table of Figure P13.28, and find the i 8 2 é 2
minimum expression for the function. 1 0 1 1 o
1 1 0 0 1
1 1 0 1 1
1 1 1 0 1
A B C [f(ABC) 1 1 1 1 0
0 0 0 0
0 0 1 1 Figure P13.32
0 1 0 1
0 1 1 0 . . . .
1 0 o0 1 13.33 Modify the circuit for Problem 13.31 so that it
1 0 1 0 produces the two's complement of the 8-bit signed
1 1 0 0 binary input.
1 1 1 1 13.34 Find the minimum output expression for the

Figure P13.28 circuit of Figure P13.34.

A

13.29 A function, F, is defined such that it equals 1 B
when a4-bit input code is equivalent to any of the f

decimal numbers 3, 6, 9, 12 or 15. F isO for input c

codes 0, 2, 8 and 10. Other input values cannot occur.
Use a Karnaugh map to determine a minimal Figure P13.34
expression for this function. Design and sketch a

circuit to implement this function using only AND and

NOT gates. 13.35 Design acombinational logic circuit which will
add two 4-bit binary numbers.
13.30 Thefunction described in Figure P13.30 can be 13.36 Minimize the expression described in the truth

constructed using only two gates. Design the circuit. table of Figure P13.36 and draw the circuit.
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If the number is even, divide it by 2,5 and produce the

a. Fill inthe Karnaugh map for the function defined in
the truth table of Figure P13.41.

b. What is the minimum expression for the function?
c. Draw thecircuit, using AND, OR, and NOT gates.

A B
binary result.
8 8 If the number is odd, multiply it by 2,0 and produce the
0o 1 binary result.
0o 1
1 0 13.41
1 0
1 1
1 1

roroOoroOoro|lO
|OI—‘I—‘I—‘I—‘OI—‘I—‘|T||

Figure P13.36

13.37 Find the minimum expression for the output of

the logic circuit of Figure P13.37. A B C [f(AB/C)

0 0 O 1
0 0 1 1
0 1 o0 0
A o 1 1 1
B 1 0 0 1
f 1 0 1 1
1 1 0 1
C 1 1 1 0

Figure P13.37 Figure P13.41

13.38 The objective of this problemisto design a 13.42

combinational logic circuit which will aidin . ; :
determination of the acceptability of emergency blood a ggrl w(;;hbe I;?r ng]ht?pr fcf)rFt'he Iog;iétinzctlon
transfusions. It is known that human blood can be n ) Y e, r.u €o !gure o
categorized into four types—A, B, AB, and O. Persons b. What is the minimum expression for the function?
with type A blood can donate to both A and AB types,
and can receive blood from both A and O types.
Persons with type B blood can donate to both B and

AB, and can receive from both B and O types. Persons A B C D F
with type AB blood can donate only to type AB, but 0 0 0 O 1
can receive from any type. Persons with type O blood 0 0 0 1 0
can donate to any type, but can receive only from type 0 o0 1 o 1
O. Make appropriate variable assignments and design a 0 o0 1 1 0
circuit which will approve or disapprove any particular 6 1 0 O 0
transfusion based on these conditions. 0 1 0 1 0
0o 1 1 O 0
13.39 Find the minimum expression for the logic o 1 1 1 1
function at the output of the logic circuit of Figure 10 0 O 1
P13.39. 10 0 1 0
1 0 1 0 1
1 0 1 1 0
1 1 0 O 1
A 1 1 0 1 1
B 11 1 o0 1
1 1 1 1 0
c f Figure P13.42
D
Figure P13.39 13.43

a. Fill in the Karnaugh map for the logic function
defined by the truth table of Figure P13.43.

13.40 Design acombinational logic circuit which will b. What is the minimum expression for the function?
accept a4-hit binary number and: . Realize the function, using only NAND gates.
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A-B
00 01 11 10
CD

00| O 1 X 0

01| O 1 X 0

11| o 1 0 1

10| x X 1 0

Figure P13.47

13.48 One method of ensuring reliability in data
transmission systemsis to transmit a parity bit along
with every nibble, byte, or word of binary data

Figure P13.43 transmitted. The parity bit confirms whether an even

or odd number of 1's were transmitted in the data. In

even-parity systems, the parity bit is set to 1 when the

PRRPRRRRPRRPRPROOOOOCOOO|X>

PFRPRPFPOOOORRRFRPROOOCO|T
PRPOORROORROORROO|O
rOrOrRORORORORORO|OD
ORPPRPOOORRFRRFROFRORRELRRLR|T

13.44 Design acircuit with afour-bit input representing number of 1'sin the transmitted datais odd.

the binary number A3A,A;A,. The output should be 1 Odd-parity systems set the parity bit to 1 when the

if theinput valueisdivisible by 3. Assume that the number of 1'sin the transmitted datais even. Assume

circuit isto be used only for the digits 0 through 9 that a parity-bit is transmitted for every nibble of data.

(thus, valuesfor 10 to 15 can be don't cares). Design alogic circuit that checks the nibble of data

a. Draw the Karnaugh map and truth table for the and transmits the proper parity bit for both even- and
function. odd-parity systems.

b. Determine the minimum expression for the 13.49 Assumethat aparity bit istransmitted for every
function. nibble of data. Design two logic circuits that check a

c. Draw thecircuit, using only AND, OR, and NOT nibble of data and its parity bit to determine if there
gates. may have been an datatransmission error. First assume

an even-parity system, then an odd-parity system.

13.45  Find the simplified sum-of-products 13.50 Design alogic circuit that takes a 4-bit Gray code
representation of the function from the Karnaugh map input from an optical encoder and translates it into two
shown in Figure P13.45. Note that x isthe don’t care A-bit nibbles of BCD code
term. '

13.51 Design alogic circuit that takes a 4-bit Gray code
input from an optical encoder and determinesif the

AB o oo 11 10 input value is amultiple of 3.

c;g ol 11 0l o 13.52 The4221 codeis abase 10-oriented code that
assigns the weights 4221 to each of 4 bitsin anibble of
data. Design alogic circuit that takes aBCD nibble as

1) 1| 1] 0] 0 input and converts it to its 4221 equivalent. The logic
circuit should also report an error in the BCD input if
1| o X 1 0 its value exceeds 1001.
13.53 The 4-hit digital output of each of two sensors
o 0 0 110 along an assembly line conveyor belt is proportional to
the number of parts which pass by on the conveyor belt
Figure P13.45 in a 30-second period. Design alogic circuit that

reports an error if the outputs of the two sensors differ
by more than one part per 30-second period.
13.46 Canthecircuit for Problem 13.40 be simplified if

it isknown that the input represents a BCD Section 4: Logic Modules

(binary-coded decimal) number, i.e., it can never be

greater than 10,7 If not, explain why not. Otherwise, 13.54

design the smplified circuit. a Fill inthe Karnaugh map for the logic function
13.47 Find the implified sum-of-products defined by the ruth table of Figure P13.54.

representation of the function from the Karnaugh map b. What is the minimum expression for the function?

shown in Figure P13.47. . Realize the function using a 1-of-8 multiplexer.



f(A,B,C,D)

PRPRRPPRPPPPOOOCOOCOOO|>

PRPPRPPOOOORRLPRRPLPPLPOOOO|
PRPOORRPROORROORRLROO|OD
PrOrRORORORORORORO|OD

PRPOFRPOOFRPROOORFRORRFRLROR

Figure P13.54
13.55

a. Fill inthe truth table for the multiplexer circuit

shown in Figure P13.55.

b. What binary function is performed by these

multiplexers?

S

§

c s °7"
X

y 11
0 o

0 1 1— 1,
10 01
11 S

Figure P13.55

L oo

0 —
0 —
0 —
1—

13.56 Thecircuit of Figure P13.56 can operate as a

4-t0-16 decoder. Terminal EN denotes the enable

input. Describe the operation of the 4-to-16 decoder.
What istherole of logic variable A?

O0Ow

3-to-8
Decoder

EN

3-to-8
Decoder

EN

Figure P13.56
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13.57 Show that the circuit given in Figure P13.57
converts 4-bit binary numbersto 4-bit Gray code.

G,

D
D

B,

4-hit binary code in
4-Bit Grey codein

Figure P13.57

13.58 Suppose one of your classmates claims that the
following Boolean expressions represent the
conversion from 4-bit Gray code to 4-bit binary

numbers:
B3z = G3
B, =G3® G

Bi=G3®0G,® Gy
Bo=G3® G2® G1® Go
a. Show that your classmate’s claim is correct.
b. Draw the circuit which implements the conversion.

13.59 Select the proper inputs for a 4-input multiplexer
to implement the function
f(A,B,C) = ABC + ABC + AC. Assumethe
inputs I, 11, I, and I3 correspond to AB, AB, AB,
and A B, respectively, and that each input may be 0, 1,
C,orC.

13.60 Select the proper inputs for an 8-bit multiplexer
to implement the function f (A, B, C, D) = > (2,5, 6,
8,9, 10, 11, 13, 14)4. Assume the inputs I, through 17
correspondto ABC, ABC, ABC, ABC, ABC, ABC,

ABC,and ABC, respectively, and that each input may

beO, 1, D, or D.
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P T E R

Digital Systems

he first half of Chapter 14 continues the analysis of digital circuits that

was begun in Chapter 13 by focusing on sequentia logic circuits, such

as flip-flops, counters, and shift registers. The second half of the chapter

is devoted to an overview of the basic functions of microcontrollers and
microcomputers. During thelast decade, microcomputers have become astandard
tool in the analysis of engineering data, in the design of experiments, and in the
control of plants and processes. No longer a specialized electronic device to be
used only by appropriately trained computer engineers, today’s microcomputer—
perhaps more commonly represented by the ubiquitous personal computer—is a
basic tool in the engineering profession. The common thread in its application
in various engineering fields isits use in digital data acquisition instruments and
digital controllers.

Modern microcomputers are relatively easy to program, have significant
computing power and excellent memory storage capabilities, and can be readily
interfaced with other instrumentsand el ectronic devices, such astransducers, print-
ers, and other computers. The basic functions performed by the microcomputer
in a typical digital data acquisition or control application are easily described:
input signals (often analog, sometimes already in digital form) are acquired by
the computer and processed by means of suitable software to produce the desired
result (i.e., they undergo some kind of mathematical manipulation), which isthen
outputted to either adisplay or astorage device, or isused in controlling a process,
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Figure 14.1 RSflip-flop
symbol and truth table
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aplant, or an experiment. The objective of this chapter isto describe these various
processes, with the aim of giving the reader enough background information to
understand the notation used in data books and instruction manuals.

Upon compl eting this chapter you should be able to:

+ Analyze sequentia circuitsincluding RS, D, and JK flip-flops.

- Understand the operation of binary, decade, and ring counters.

- Design simple sequential circuits using state transition diagrams.

+ Understand the basic architecture of microprocessors and
microcomputers.

14.1 SEQUENTIAL LOGIC MODULES

The discussion of logic devices in Chapter 13 focuses on the general family of
combinational logic devices. The feature that distinguishes combinational logic
devices from the other major family—sequential logic devices—is that combi-
national logic circuits provide outputs that are based on a combination of present
inputs only. On the other hand, sequential logic circuits depend on present and
past input values. Because of this“memory” property, sequential circuitscan store
information; this capability opensawhole new area of application for digital logic
circuits.

Latches and Flip-Flops

Thebasic information-storage devicein adigital circuit iscalled aflip-flop. There
are many different varieties of flip-flops; however, al flip-flops share thefollowing
characteristics:

1. Aflip-flopisabistable device; that is, it can remain in one of two stable
states (0 and 1) until appropriate conditions cause it to change state. Thus, a
flip-flop can serve as a memory element.

2. A flip-flop has two outputs, one of which is the complement of the other.

RS Flip-Flop

It is customary to depict flip-flops by their block diagram and a name—such as Q
or X—representing the output variable. Figure 14.1 represents the so-caled RS
flip-flop, which has two inputs, denoted by S and R, and two outputs, Q and Q.
Thevaueat Q iscaled the state of theflip-flop. If Q = 1, werefer to the device
as being in the 1 state. Thus, we need define only one of the two outputs of the
flip-flop. The two inputs, R and S, are used to change the state of the flip-flop,
according to the following rules:

1. When R = S = 0, theflip-flop remainsin its present state (whether 1 or 0).

2. When § = 1and R = 0, theflip-flop is set to the 1 state (thus, the letter S,
for set).

3. When S = 0and R = 1, theflip-flop is reset to the O state (thus, the |etter R,
for reset).

4. Itisnot permitted for both S and R to be equal to 1. (Thiswould correspond
to requiring the flip-flop to set and reset at the sametime.)
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The rules just described are easily remembered by noting that 1son the S and R
inputs correspond to the set and reset commands, respectively.

A convenient means of describing the series of transitions that occur as
the signals sent to the flip-flop inputs change is the timing diagram. A timing
diagram is a graph of the inputs and outputs of the RSflip-flop (or any other logic
device) depicting the transitions that occur over time. In effect, one could also
represent these transitions in tabular form; however, the timing diagram provides
a convenient visual representation of the evolution of the state of the flip-flop.
Figure 14.2 depicts a table of transitions for an RS flip-flop O, as well as the
corresponding timing diagram.

S R Q )
Ll L1 1111y, Time
1 0 1
[ n..°
ol o] 1 0
1R
0 1 0 I_I I-I 0
o o o 10
o| o] o | I I 0
0 1 0
0 0 0 Flip-flop Flip-flop Flip-flop Flip-flop
1 0 1 isset isreset isreset isset
(but Q =0)
0 0 1 already

Figure 14.2 Timing diagram for the RS flip-flop

It is important to note that the RS flip-flop is level-sensitive. This means
that the set and reset operations are completed only after the R and S inputs have
reached the appropriate levels. Thus, in Figure 14.2 we show the transitionsin the
Q output as occurring with asmall delay relative to the transitionsinthe R and S
inputs.

It is instructive to illustrate how an RS flip-flop can be constructed using
simplelogic gates. For example, Figure 14.3 depicts arealization of such acircuit
consisting of four gates: two inverters and two NAND gates (actually, the same
result could be achieved with four NAND gates). Consider the case in which
the circuit is in the initial state 9 = 0 (and therefore Q = 1). If the input
S = 1is applied, the top NOT gate will seeinputs 0 = 1and § = 0, so that
Q0= (S-0) = (0-1) = 1—thatis, the flip-flop is set. Note that when Q is set
to 1, O becomes 0. This, however, does not affect the state of the Q output, since
replacing Q with 0 in the expression

0= -0
does not change the result:
0=00=1

Thus, the cross-coupled feedback from outputs Q and Q to theinput of the NAND
gates is such that the set condition sustains itself. It is straightforward to show
(by symmetry) that a 1 input on the R line causes the device to reset (i.e., causes
Q = 0) and that this condition is a so self-sustaining.

Do
Q
Q
R_I>O§—

Figure 14.3 Logic gate
implementation of the RS
flip-flop

Ol
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EXAMPLE 14.1 RS Flip-Flop Timing Diagram

Problem

Determine the output of an RSflip-flop for the series of inputs given in the table below.

R|0O|lO|O]1]0|O0]O
Ss|{1/0j1j0|0|1]|O0

Solution
Known Quantities: RSflip-flop truth table (Figure 14.1).
Find: Output of RSflip-flop, Q.

Analysis: We complete the timing diagram for the RSflip-flop following the rules stated
earlier to determine the output of the device; the result is summarized bel ow.

R|O0O|O0O(O0O|1]0]|0]O
S|11]0(1|0]|0
og|l1|1j1/0|0]1]1

A sketch of the waveforms, shown below, can also be generated to visualize the
transitions.

An extension of the RS flip-flop includes an additional enable input that
is gated into each of the other two inputs. Figure 14.4 depicts an RS flip-flop
consisting of two NOR gates. In addition, an enable input is connected through
two AND gates to the RS flip-flop, so that an input to the R or S line will be
effective only when the enable input is 1. Thus, any transitions will be controlled
by the enable input, which acts as a synchronizing signal. The enable signal may
consist of aclock, in which casetheflip-flop issaid to be clocked and its operation
issaid to be synchronous.

The same circuit of Figure 14.4 can be used to illustrate two additional
features of flip-flops. the preset and clear functions, denoted by the inputs P
and C, respectively. When P and C are 0O, they do not affect the operation of
the flip-flop. Setting P = 1 corresponds to setting S = 1, and therefore causes
the flip-flop to go into the 1 state. Thus, the term preset: this function allows the
user to preset the flip-flop to 1 at any time. When C is 1, the flip-flop is reset, or
cleared (i.e., Q ismade equal to 0). Note that these direct inputs are, in general,
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Preset ‘
Prec 7 Cery
) o s T T T
; Ry o
R ° e L
e (@ || e
Enable : : : : : : :

Timing diagram

Figure 14.4 RSflip-flop with enable, preset, and clear lines

asynchronous; therefore, they allow the user to preset or clear the flip-flop at any
time. A set of timing waveformsillustrating the function of the enable, preset, and
clear inputsis also shown in Figure 14.4. Note how transitions occur only when
the enable input goes high (unless the preset or clear inputs are used to override
the RSinputs).

Another extension of the RS flip-flop, called the data latch, or delay ele-
ment, is shown in Figure 14.5. In this circuit, the R input is aways equa to the
inverted S input, so that whenever the enable input is high, the flip-flop is set.
This device has the dual advantage of avoiding the potential conflict that might
ariseif both R and S were high and reducing the number of input connections by
eliminating thereset input. Thiscircuit iscalled adatalatch or delay because once
the enableinput goeslow, theflip-flop islatched to the previous value of theinput.
Thus, thisdevice can serve as abasic memory element, delaying the output by one
clock count with respect to the input.

D Flip-Flop

The D flip-flop is an extension of the data latch that utilizes two RS flip-flops,
as shown in Figure 14.6. In this circuit, a clock is connected to the enable input
of each flip-flop. Since Q; sees an inverted clock signal, the latch is enabled
when the clock waveform goes low. However, since Q- is disabled when the
clock is low, the output of the D flip-flop will not switch to the 1 state until the
clock goes high, enabling the second latch and transferring the state of Q; to
0. Itisimportant to note that the D flip-flop changes state only on the positive
edge of the clock waveform: Q3 is set on the negative edge of the clock, and
0> (and therefore Q) is set on the positive edge of the clock, as shown in the
timing diagram of Figure 14.6. Thistype of deviceis said to be edge-triggered.
This feature is indicated by the “knife edge” drawn next to the CLK input in the
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Enable

Enable

Figure 14.5 Data latch and associated timing diagram

D S Q1 S Q2 Q —/b Q—
L|>o— R & R Q
—> CLK (j —
E; Eo

" _‘[_|>O_‘ Devicesymbol ~ CLK _I +_| |_| +_|

Functional diagram Timing diagram

Q)
?
Q

Figure 14.6 D flip-flop functional diagram, symbol, and timing waveforms

device symbol. The particular device described here is said to be positive edge—
triggered, or leading edge—triggered, since the final output of the flip-flop is set
on a positive-going clock transition.

Onthe basis of the rules stated in this section, the state of the D flip-flop can
be described by means of the following truth table:

D CLK
0o ¢ 0
1 4 1

where the symbol 1 indicates the occurrence of a positive transition.
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JK Flip-Flop

Another very common type of flip-flop is the JK flip-flop, shown in Figure 14.7.
The JK flip-flop operates according to the following rules:

+ When J and K are both low, no change occurs in the state of the flip-flop.
When J =0and K = 1, theflip-flopisreset to 0.
*WhenJ =1and K = 0, theflip-flopisset to 1.

+ When both J and K are high, the flip-flop will toggle between states at
every negative transition of the clock input, denoted from here on by the
symbol | .

L Master Slave

| 3—31 Q S @ Q —9 Q-
CLK E —E Q Q —OpcCLK
K N\ _ _
/ R1 Ql Rz —K Q _

E Device symbol

Functional diagram

Figure 14.7 JK flip-flop functiona diagram and device symbol

Notethat, functionally, the operation of the JK flip-flop can also beexplained
in terms of two RSflip-flops. When the clock waveform goes high, the “master”
flip-flopisenabled; the" dave’ receivesthestate of themaster upon anegativeclock
transition. The “bubble’ at the clock input signifies that the device is negative or
trailing edge-triggered. Thisbehavior issimilar to that of an RSflip-flop, except
for the J = 1, K = 1 condition, which corresponds to a toggle mode rather than
to adisallowed combination of inputs.

Figure 14.8 depicts the truth table for the JK flip-flop. It is important to
note that when both inputs are 0 the flip-flop remains in its previous state at the
occurrence of a clock transition; when either input is high and the other is low,
the JK flip-flop behaves like the RS flip-flop, whereas if both inputs are high,
the output “toggles’ between states every time the clock waveform undergoes a
negative transition.

Data sheetsfor varioustypes of flip-flops may befound in the accompanying
CD-ROM.

J Q
—CpCLK —
K Q
JK flip-flop

Jn Kn Qn+1

0 0 Qn

0 1 0 (reset)

1 0 1 (set)

1 1 | Qn(toggle)

Figure 14.8 Truth
table for the JK flip-flop

653

EXAMPLE 14.2 The T Flip-Flop

Problem

Determine the truth table and timing diagram of the T flip-flop of Figure 14.9. Note that
the T flip-flop isa JK flip-flop with its inputs tied together.
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«[Uuuuuu .

Input —— T Qr— Q
Clock —@| CLK t
Qr— Q
T flip-flop Waveforms for (toggle mode) T flip-flop (T = 1) t

Figure 14.9 T flip-flop symbol and timing waveforms

Solution
Known Quantities: JK flip-flop rules of operation (Figure 14.8).
Find: Truth table and timing diagram for T flip-flop.

Analysis: We recognizethat the T flip-flop isaJK flip-flop with itsinputs tied together.
Thus, the flip-flop will need only a two-element truth table to describe its operation,
corresponding to the top and bottom entriesin the JK flip-flop truth table of Figure 14.8.
The truth table is shown below. A timing diagram is also included in Figure 14.9.

T | CLK | Quu

2 Ok
i O

Comments: The T flip-flop takesits name from the fact that it toggles between the high
and low state. Note that the toggling frequency is one half that of the clock. Thusthe T
flip-flop also acts as a divide-by-2 counter. Counters are explored in more detail in the
next subsection.

EXAMPLE 14.3 JK Flip-Flop Timing Diagram

Problem

Determine the output of a JK flip-flop for the series of inputs given in the table below. The
initial state of theflip-flopis Qo = 1.

J |0 110
0 1/0|0|1
Solution

Known Quantities: JK flip-flop truth table (Figure 14.8).

Find: Output of RSflip-flop, Q, asafunction of the input transitions.
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Analysis: We complete the timing diagram for the JK flip-flop following the rules of
Figure 14.8; the result is summarized bel ow.

Jlolo|lo|1|lo|o]|oO
k|1]ol1]0|0]1
ol1lo|lo|1]|1]|0]1

A sketch of the waveforms, shown below, can also be generated to visualize the
transitions. Each vertical line corresponds to a clock transition.

00 11 01 10 00 01 11

Comments: How would the timing diagram change if the initial state of the flip-flop
were Qg = 17?

655

Digital Counters

Oneof themoreimmediate applicationsof flip-flopsisinthedesignof counters. A
counter isasequential logic devicethat can take one of N possible states, stepping
through these states in a sequential fashion. When the counter has reached its last
state, it resets to zero and is ready to start counting again. For example, athree-
bit binary up counter would have 22 = 8 possible states, and might appear as
shown in the functional block of Figure 14.10. The input clock waveform causes
the counter to step through the eight states, making one transition for each clock
pulse. We shall shortly see that a string of JK flip-flops can accomplish this task
exactly. Thedeviceshownin Figure 14.10 also displaysareset input, which forces
the counter output to equal 0: b,b1bg = 000.

Although binary counters are very useful in many applications, oneis often
interested in a decade counter, that is, a counter that counts from 0 to 9 and then
resets. A four-bit binary counter can easily be configured in principle to provide
this function by means of simple logic that resets the counter when it has reached
the count 1001, = 9;9. Asshown in Figure 14.11, if we connect bits b3 and b1 to
afour-input AND gate, along with b, and b, the output of the AND gate can be
used to reset the counter after acount of 10. Additional logic can providea“carry”
bit whenever areset condition is reached, which could be passed along to another
decade counter, enabling counts up to 99. Decade counters can be cascaded so as
to represent decimal digitsin succession.

Although the decade counter of Figure 14.11 is attractive because of its
simplicity, this configuration would never be used in practice, because of the
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Reset Input pulses State
putp by by bo
l 0 0 0 0
_bi 1 0 0 1
Clock b3 bit
input |na{y 2 0 1 0
counter 3 01 1
l l l 4 100
b b b 5 1 0 1
2 ot 9 6 110
Functional representation
of binary counter 7 111
Timing table
Clock

by

b2

Timing diagram

Figure 14.10 Binary up counter functional representation, state table,
and timing waveforms

Input pulses | bz b, by by
0 0 0 0 O Reset
1 0 0 0 1
2 0 0 1 O
4-bit
3 0 0 1 1 Clock —»] binary
4 01 0 O counter
5 0 1 0 1 bs b, by bo
6 0 1 1 0 l—{ >0—]
7 0 1 1 1
8 1 0 0 O
9 1 0 0 1
10 1 0 1 0 |(Rest

Figure 14.11 Decade counter

presence of propagation delays. These delays are caused by the finite response
timeof theindividual transistorsin eachlogic deviceand cannot be guaranteed to be
identical for each gate and flip-flop. Thus, if the reset signa—which is presumed
tobeapplied at exactly the sametimeto each of thefour JK flip-flopsinthefour-bit
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binary counter—does not cause the JK flip-flopsto reset at exactly the same time
on account of different propagation delays, then the binary word appearing at the
output of the counter will change from 1001 to some other number, and the output
of the four-input NAND gate will no longer be high. In such a condition, the
flip-flopsthat have not already reset will then not be able to reset, and the counting
sequence will be irreparably compromised.

What can be done to obviate this problem? The answer isto use a system-
atic approach to the design of sequentia circuits making use of state transition
diagrams. Thistopic will be discussed in the next section.

A simple implementation of the binary counter we have described in terms
of itsfunctional behavior is shown in Figure 14.12. The figure depicts a three-bit
binary ripple counter, which is obtained from a cascade of three JK flip-flops.
The transition table shown in the figure illustrates how the Q output of each stage
becomes the clock input to the next stage, while each flip-flop isheld in the toggle
mode. The output transitions assumethat the clock, CLK, isasimple square wave
(al JKs are negative edge-triggered).

Input Q3 Q2

1 1 1 M o o

1L o o

J Q J Q J Q IL o 1

?Agﬁ“ L CLK CLK CLK ﬂ S (l)
K K K o o1 o

1T 1 1

o} Q e Il 1 1

Figure 14.12 Ripple counter

This 3-bit ripple counter can easily be configured as a divide-by-8 mecha-
nism, simply by adding an AND gate. To divide the input clock rate by 8, one
output pulse should be generated for every eight clock pulses. If onewereto output
a pulse every time a binary 111 combination occurs, a simple AND gate would
suffice to generate the required condition. This solution is shown in Figure 14.13.
Note that the square wave is also included as an input to the AND gate; this en-
sures that the output is only aswide asthe input signal. This application of ripple
countersis further illustrated in the following example.

spare 117 QU 13 @ 1—)
wave ———Q> CLK t+—CO>CLK +—O>CLK
input

1— K 1—K 1—K

Figure 14.13 Divide-by-8 circuit

e

P O P, O Fr O Fr O
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EXAMPLE 14.4 Divider Circuit

Problem

Draw the timing diagram for the clock input, Qo and Q;, for the binary ripple counter of
Figure 14.14.

Vee Qo Vee Q1

Qo J Q J

I I I I CLK CLK

(&

Figure 14.14

Solution

Known Quantities: JK flip-flop truth table (Figure 14.8).

Find: Output of each flip-flop, Q, asafunction of the input clock transitions.
Assumptions: Assume negative-edge-triggered devices.

Analysis: Following the timing diagram of Figure 14.12, we see that Q, switches at half
the frequency of the clock input, and that Q; switches at half the frequency of Qo. Hence
the timing diagram shown below.

<1+

CLK

A e I e O e O

e

~—————4T

A dightly more complex version of the binary counter is the so-called syn-
chronous counter, in which the input clock drives all of the flip-flops simultane-
ously. Figure 14.15 depictsathree-bit synchronous counter. Inthisfigure, we have
chosen to represent each flip-flop asa T flip-flop. The clocksto all the flip-flops
areincremented simultaneously. The reader should verify that Q¢ togglesto 1 first
and then Q, togglesto 1, and that the AND gate ensures that O, will toggle only
after Qg and Q1 have both reached the 1 state (Qo - Q1 = 1).
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Figure 14.15 Three-bit synchronous counter

Other common counters are the ring counter, illustrated in Example 14.5,
and the up-down counter, which has an additional select input that determines
whether the counter counts up or down. Data sheets for various counters may be
found in the accompanying CD-ROM.

EXAMPLE 14.5 Ring Counter

Problem

Draw the timing diagram for the ring counter of Figure 14.16.

Qo

Init
Qs Q2 Q1
PR CLR CLR CLR
—S Qs S Q S Q S Qo
CLK —p CLK —p CLK —p CLK
R Qs R Q R Q R Q
Clock
input

Figure 14.16 Ring counter

Solution

Known Quantities: JK flip-flop truth table (Figure 14.8).

Find: Output of each flip-flop, O, asafunction of the input clock transitions.

Assumptions: Assume that prior to applying the clock input the Init line sees a positive
transition (thisinitializes the counter by setting the state of the first flip-flop to 1 through a
PR (preset) input, and all other statesto zero through a CLR (clear) input).

Analysis: Withtheinitia state of Q3 = 0, aclock transition will set Q3 = 1. The clock
al so causes the other three flip-flops to see areset input of 1, since
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03 = 0> = Q01 = Qo = Oat thetime of thefirst clock pulse. Thus, Q,, Q; and Qo
remain in the zero state. At the second clock pulse, since Q3 isnow 1, the second flip-flop
will see aset input of one, and its output will become 0, = 1. Q; and Qg remainin the
zero state, and Qs isreset to 0. The pattern continues, causing the 1-state to ripple from
left to right and back again. This rightward rotation gives the counter its name. The
transition table is shown below.

CLK | Q3 | Q2 | Q1 | Qo

e T S
OO Fr OO0O0O R
O L OORFr OO
P O OOOL®RFkrOo
O O0OoOoOFr OO0OOo

Comments: The shifting function implemented by the ring counter is used in the shift
registers discussed in the following subsection.

Focus on Computer-Aided Solutions: A ring counter simulation generated by
Electronics Workbench™ may be found in the accompanying CD-ROM.

MEASUREMENTS

Digital Measurement of Angular Position and Velocity
Another type of angular position encoder, besides the angular encoder
discussed in Chapter 13 in “Focus on Measurements: Position Encoders,” is
the slotted encoder shown in Figure 14.17. This encoder can be used in
conjunction with a pair of counters and a high-frequency clock to determine
the speed of rotation of the slotted wheel. As shown in Figure 14.18, a clock
of known frequency is connected to a counter while another counter records
the number of slot pulses detected by an optical slot detector as the wheel
rotates. Dividing the counter values, one could obtain the speed of the
rotating wheel in radians per second. For example, assume a clocking
frequency of 1.2 kHz. If both counters are started at zero and at some instant
the timer counter reads 2,850 and the encoder counter reads 3,050, then the
speed of the rotating encoder is found to be:

cycles 2,850slots 3 slots
second 3,050cycles 7 second

1,200

and
1,121.3 slots per second x 1° per slot x 27 /360 rad/degree
= 19.6 rad/s
If this encoder is connected to arotating shaft, it is possible to
measure the angular position and velocity of the shaft. Such shaft

encoders are used in measuring the speed of rotation of electric ENRGEE:
motor s, machine tools, engines, and other rotating machinery.

FIND IT
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360 slots

360 slots; 1 increment = 1 degree

Figure 14.17

Time processing unit

| | | | | | |R.1|sedetector |——>|Counter|

| Clock |——>| Counter |

Figure 14.18 Calculating the speed of rotation of the slotted
wheel

A typical application of the slotted encoder isto compute the ignition and
injection timing in an automotive engine. In an automotive engine,
information related to speed is obtained from the camshaft and the flywhesl,
which have known reference points. The reference points determine the
timing for the ignition firing points and fuel injection pulses, and are
identified by special slot patterns on the camshaft and crankshaft. Two
methods are used to detect the specia dlots (reference points): period
measurement with additional transition detection (PMA), and period
measurement with missing transition detection (PMM). In the PMA method,
an additional slot (reference point) determines a known reference position
on the crankshaft or camshaft. Inthe PMM method, the reference position is
determined by the absence of adlot. Figure 14.19 illustrates atypical PMA
pulse sequence, showing the presence of an additional pulse. The additional
slot may be used to determine the timing for the ignition pulses relative to a
known position of the crankshaft. Figure 14.20 depicts atypical PMM pulse
sequence. Because the period of the pulsesis known, the additional slot or
the missing slot can be easily detected and used as areference position. How
would you implement these pul se sequences using ring counters?
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Additional Missing
slot slot

/ -

10 11 12 0

Figure 14.20 PMM

Figure 14.19 PMA pulse sequence pulse sequence

Registers

A register consists of a cascade of flip-flops that can store binary data, one bit in
each flip-flop. The simplest type of register is the paralel input—parallel output
register shown in Figure 14.21. Inthisregister, the “load” input pulse, which acts
on all clocks simultaneously, causes the parallel inputs bob1b2b3 to be transferred
to the respective flip-flops. The D flip-flop employed in this register allows the
transfer fromb,, to Q,, to occur very directly. Thus, D flip-flopsarevery commonly
used in this type of application. The binary word b3bob1bg is now “stored,” each
bit being represented by the state of a flip-flop. Until the “load” input is applied
again and a new word appears at the parallel inputs, the register will preserve the
stored word.

Qo Q1 Q2 Qs

—{D Q- —|D Q[ —|D Q- D Q3J
C> CLK > CLK > CLK CLK

“Load”
input by by b2 b3

Figure 14.21 Four-bit parallel register

The construction of the parallel register presumes that the N-bit word to be
storedisavailablein parallel form. However, it isoften truethat abinary word will
arrive in serial form, that is, one bit at atime. A register that can accommodate
thistype of logic signal is called a shift register. Figure 14.22 illustrates how the
same basic structure of the parallel register appliesto the shift register, except that
the input is now applied to thefirst flip-flop and shifted along at each clock pulse.
Note that this type of register provides both a serial and a parallel output.

Data sheets for some common registers are included in the accompanying
CD-ROM.
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Qo Q1 Q2 Qs

Serial by
ms 2ol Lo e

CLK CLK CLK CLK

D Q t D Qg—t—»?ﬁ{ir)?ljt

Clock
input

Figure 14.22 Four-bit shift register

Seven-Segment Display

A seven-segment display is avery convenient device for displaying digital
data. The display is shown in Figure 14.23. Operation of a seven-segment
display requires a decoder circuit to light the proper combinations of
segments corresponding to the desired decimal digit.

This display, with the appro-
priate decoder driver, is capable > D | > a
of displaying values ranging —lc
from0t0 9. —b
—> B
— C
a — A BCDto
a —— sven-segment | ¢
b— fﬂ Hb decoder — €
c
d 9 — f
e —— 9
i |e J c
g— | T3
Figure 14.24

Figure 14.23 Seven-
segment display

A typical BCD to seven-segment decoder function block is shownin
Figure 14.24, where the lowercase | etters correspond to the segments shown
in Figure 14.23. The decoder features four datainputs (A, B, C, D), which
are used to light the appropriate segment(s). The outputs of the decoder are
connected to the seven-segment display. The decoder will light up the
appropriate segments corresponding to the incoming value. A BCD to
seven-segment decoder function is similar to the 2-to-4 decoder function
described in Chapter 13 and shown in Figure 13.61. Data sheets for
seven-segment display drivers may be found in the accompanying CD-ROM.

Check Your Understanding

14.1 Thecircuit shown in Figure 14.25 also serves as an RSflip-flop and requires only
two NOR gates. Analyze the circuit to prove that it operates as an RSflip-flop. [Hint: Use

atruth table with two variables, S and R.]
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